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Therukoothu is, as its name indicates, a popular form of theatre performed in the
streets. Itis performed by rural artists. The stories are derived from epics like Ramayana,
Mahabharatha and other ancient puranas. There are more songs in the play with
dialogues improvised by the artists on the spot. Fifteen to twenty actors with a small
orchestra forms a koothu troupe. Though the orchestra has a singer, the artists sing in
their own voices. Artists dress themselves with heavy costumes and bright makeup.
Koothu is very popular among rural areas.
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Language — Part II — ENGLISH

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

PART -1
Note : (i) Answer all the questions. 14x1=14

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

Choose the appropriate synonyms for the italicised words.

1.  We have to be active and need to anticipate what could be there ahead.

(@) foresee (b) unexpected (c) careless (d) sudden
2.  They can control a computer screen with Eye Gaze.

(a) control (b) shape (c)  colour (d) stare

3.  The lady seems hysterical.

(@) calm (b) serious (c) emotional (d) missing

Choose the appropriate antonyms for the italicised words.

4.  The Sun was now ascending the sky.
(@) climbing (b) rising (c) mounting (d) descending

5.  The spoilt child of affluent parents!

(a) poor (b)  healthy (c) wealthy (d) happy
6.  The whole school seemed so strange.

(@) odd (b) usual (c) weird (d) new
7.  Choose the correct plural form of ‘eskimo” from the following,.

(@) eskimoss (b)  eskimos (c) eskimose (d) eskimo
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8.  Form a derivative by adding the right suffix to the word “Child’.
(a) hood (b) ment (c) ure (d) ion

9.  Choose the correct expansion of the abbreviation “AAC".
(a) Augmentative and Alternative Communication
(b) Accumulative and Alternative Communication
() Augmentative and Assessive Communication
(d) Augmentative and Artificial Computer

10. Complete the following sentence with the most appropriate phrasal verb given below.
I never in the gym.
(a) work after (b) work out (c) work on (d) work in

11. Choose the suitable option to pair it with the word “Watch” to form a compound word.
(a) hall (b) house (c) man (d) clock

12. Fill in the blank with the most appropriate preposition given below.
The young seagull was alone his ledge.

(a) of (b) on (c) into (d) with

13. Complete the following sentence using the most appropriate tense form of the verb given

below.
Siva (attend) music classes regularly.
(a) attends (b) attended (c) will attend (d) will be attending

14. Choose the most appropriate linker from the given four alternatives.

Call me you need money.
(a) incase (b) though () but (d) and
PART - 1I
SECTION - 1
Answer any three of the following questions in a sentence or two. 3x2=6

15. What woke up the mother ?
16. Which devices are controlled using ACTIV controller ?
17. Why did Holmes want Smith to treat him ?

18. What was Frank sorry for ?



19.

20.

21.

22.

23.

24.

25.

26.

27.

SECTION - 2
Read the following sets of poetic lines and answer any three of the following.

There’s a family nobody likes to meet;

They live, it is said, on Complaining Street

(a) Where does the family live ?

(b)  Why do you think the street is named as Complaining Street ?

At last by starvation and famine made bold,

All dripping with wet, and all trembling with cold,
(a) What made the cricket bold ?

(b) Why did the cricket drip and tremble ?

So let the way wind up the hill or down,

O’er rough or smooth, the journey will be joy:
(a) How is the way of life ?

(b) How should be the journey of life ?

And now, if you will set us to our task,

We will serve you four and twenty hours a day!
(@)  Who does the pronoun ‘you’ refer to here ?
(b)  Whose task is referred to as ‘our task” here ?

SECTION - 3
Answer any three of the following.

Rewrite the sentence in Reported speech.
He said, “I have bought five apples from the shop.”

Rewrite the following sentence in other voice.
Have you invited Raman to the party ?

Punctuate the following sentence.
do you know the symptoms asked smith

Change the following sentence into a simple sentence.
He followed what I suggested.

Rearrange the words in the correct order to make meaningful sentences.
(a) had/made/He/flight/his/first.
(b) heard/from/tent/her/this/Mulan/inside.

7721

3x2=6

3x2=6
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28.

29.
30.
31.
32.

33.

34.
35.

4

SECTION - 4
Answer the following question. 1x2=2

A stranger asked you to direct him to the school. Guide him to reach his destination.

RAJA DEPARTMENTAL
STORE
GANDHI MAIN ROAD
BUS STOP
SCHOOL GOVT.
/CP\ HOSPITAL
7\
You are here
PART - 1II
SECTION -1
Answer any two of the following in a paragraph. 2x5=10

Narrate the extensive search operation made by the policeman in the house.
‘Technology is a boon to the disabled’- Justify.
Give a brief character sketch of Sasanka Sanyal.

Highlight the factors responsible for the all-women Indian Navy Crew to carry out their
expedition.

SECTION - 2
Answer any two of the following. 2x5=10

What optimistic attitude should the readers possess according to the poem ‘“The Grumble
family” ?

Compare and contrast the attitude of the ant and the cricket.

Read the following stanza and answer the questions given below.
Beside the house sits a tree.
It never grows leaves,
Not in the winter, spring, summer or fall.
It just sits there, never getting small or ever growing tall,

(a) Pick out the rhyming words from the given stanza.

(b) Give the rthyme scheme for the given stanza.

(c) Identify the figure of speech employed in the first line of the given stanza.
(d) Pick out the alliterating words in the third line.



36.

37.

38.

39.

40.
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Paraphrase the following stanza.

Remember, no men are strange, no countries foreign
Beneath all uniforms, a single body breathes

Like ours : the land our brothers walk upon

Is earth like this, in which we all shall lie.

SECTION - 3
Answer any one of the following. 1x5=5

Rearrange the following sentences in coherent order.
i)  Mulan went into her room and cut her long hair.

ii)  In the army, Mulan proved to be a brave soldier.

~—"

(

(

(i) Mulan, a teenage girl who lived in a faraway village of China heard the news.
(iv) The Emperor said that one man from each Chinese family must join the army.
(v)  She climbed on a horse and joined the army.

Read the following passage and answer the questions that follow.

One afternoon in the early fall, when Peter was eight years old, his mother called him
from his play. “Come, Peter,” she said. “I want you to go across the dike and take these
cakes to your friend, the blind man. If you go quickly, and do not stop to play, you will be
home again before dark.” The little boy was glad to go on such an errand, and started off
with a light heart. He stayed with the poor blind man a little while to tell him about his walk
along the dike and about the sun and the flowers and the ships far out at sea. Then he
remembered his mother’s wish that he should return before dark and, bidding his friend
goodbye, he set out for home.

Questions :

(a) What did Peter’s mother want him to do ?
(b) What was her advice ?

(c) Why was the little boy glad ?

(

(

Q.

) What did the little boy tell his friend ?
e) What did the little boy remember ?

SECTION - 4
Answer any four of the following. 4x5=20

Prepare an attractive advertisement using the hints given below.

Tasty and hygienic - home made taste - 200 varieties to select - Purely vegetarian - special
combo offers - available - Icecream and Fruit juices - Mani Vilas - M.G. Road, Madurai.

You are Gomathi, a resident of a colony adjacent to the Cauvery River. Daily you see many
people throwing waste into it, spoiling the pure water. Write a letter to a newspaper showing
your concern about it and also voicing your worry.
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41.

42.

43.

You are Nikil/Nikitha, school pupil leader of GHSS, Trichy. Prepare a notice on behalf of
your school inviting the grandparents of the students to celebrate WORLD ELDERS DAY in
your school auditorium on the 20t of next month.

Look at the following picture and express your views on it in a paragraph of five sentences.

Make notes or write a summary of the following passage.

Many of us use internet on a regular basis and even have access to it from our homes!
The ‘net’ in internet really stands for network. A network is two or more computers connected
together so that information can be shared, or sent from one computer to another. The
internet is a vast resource for all types of information. You may enjoy using it to do research
for a school project, downloading your favorite songs or communicating with friends and
family. Information is accessed through web pages that companies, organizations and
individuals create and post. It's kind of like a giant bulletin board that the whole world uses!
But since anyone can put anything on the internet, you also have to be careful and use your
best judgement and a little commonsense.

Just because you read something on a piece of paper someone sticks on a bulletin board
doesn’t mean that it's a good information, or even correct, for that matter. So you have to be
sure that whoever posted the information knows what they are talking about, especially if
you are doing research! But what if you're just emailing people ? You still have to be very
careful. If you've never met the person that you're communicating with online, you could be
on dangerous ground! You should never give out any personal information to someone you
don’t know, not even your name. And just like if you can’t believe the information on every
website out there, you can’t rely on what strangers you ‘meet’ on the internet tell you either.
Just like you could make up things about yourself to tell someone, someone else could do the
same to you.



44.

45.

46.

47.

7 7721

Identify the errors in the following sentences and rewrite them correctly.
a) A earth goes round the sun.
b) It poured outside now.

(

(

(c) I can be fifteen next April.

(d) Her cousins as well as she is hard working.
(

e) As we were late, so we apologised.

SECTION - 5
Quote from memory. 1x5=5
Not mourning for .........ccceceviiiiiiiiiiiiiiiie
............................................................................ with cheer.
PART -1V
Write a paragraph of about 150 words by developing the following hints. 2x8=16

(@) The Emperor of Shining - orders - old people - to be - deserted - farmer - very sad -
carries old mother - to Obatsuyama - leaves mother - arranges bed to sleep - mother
warns - son - of danger - asks to follow - twigs - son moved - carries mother back home
- hides - at home - Emperor orders - rope of ashes - farmer worried - old mother helps
- emperor surprised - farmer revealed the truth - Emperor - calls back the order -
abolished his cruel law.

OR

(b)  Prospero and Miranda - island cave - help of Ariel - raises storm - the shipwreck - the
command of Prospero - Ferdinand separated - brought to cave - Miranda meets
Ferdinand - both surprised - Prospero tries Ferdinand with hard tasks - Ariel brings
Alonso and Antonio to Prospero - both repent - dukedom restored to Prospero - marriage
of Miranda and Ferdinand.

Read the following paragraph and answer the questions given below.

(a) Books are the greatest treasure of mankind. The habit of reading them is a source of
pleasure. He, who is in the habit of reading books should buy books for himself. He
should start collecting books from his youth. The books collected and arranged properly
in a room not only decorates the room but also makes the presence of their authors felt.
Books contain eternal truths and are better friends than those of flesh and blood as they
not only entertain but also guide us.

Questions :
(i)  What are the treasure and what gives pleasure ?

ii)  When should one start collecting books ?

PRNa——
~"

(

(iii) What do books contain in them ?

(iv) Mention any two uses of reading books.
OR

[ Turn over
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(b) Read the following poem and answer the questions given below.
It is not growing like a tree
In bulk, doth make man better be;
or standing long an oak, three hundred year,
To fall a log at last, dry, bald, and sere;
A lily of a day
Is fairer far in May,
Although it fall and die that night -
It was the plant and flower of Light.
In small proportions we just beauties see;
And in short measures life may perfect be.
Questions :
(i)  Which shows beauty - the lily or the oak ?
(i) What happens to the oak at last ?
(iii) Compare the life of the oak and the lily.
(iv) What do you learn from the last two lines ?

-00o0-
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This question paper contains four parts.

L& - I /PART -1

i) Semensg NamssEns@L0 el weflésea . 14x1=14

(i) Gasr@ssiul(herer wrHm el seild WsaD ghLemLw alepuleamens
Camb0shdss GOULHLer el ulamenyb CFisgl 6r(pse]w.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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n(AxB)=6 wHm A={1, 3} erefled, n(B) <y eng :

(1)1 (=) 2 (&) 3 () 6
If n(AxB)=6 and A={1, 3}, then n(B) is :

(@ 1 b 2 () 3 (d o

f:A—>B yerg @Q@mUméE smiy womib n(B) =7 ereflé, n(A) yeng :

(1) 7 (<) 49 (@) 1 () 14
If f: A—B is a bijective function and if n(B) =7, then n(A) is equal to :

@ 7 (b) 49 © 1 (d) 14

1 s 10 cuenyujerer (Qrat(h eTaTaH@HD 2 L LIL) HENETSHH| 6TETSETTID 6@ LI(HLD
WaFS M erewr :

(<=1) 2025 (<) 5220 (@) 5025 (/) 2520

The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is :

(@) 2025 b) 5220 (©) 5025 d) 2520

@@ FmL(HS CQasrir auflensufler 31 o miliLjg e o drerar. Agem 16 -eug 2 ML
m eramed, ABSE Fal (HS Casrir euflenguliieh o emer eréveom 2 milisafler ga(Hse
(1) 16 m (<) 62 m (@) 31m (F) — m

An A.P. consists of 31 terms. If its 16th term is m, then the sum of all the terms of this A.P. is :

(@) 16m (b) 62m (¢) 31m d —m

464 -m (P uUTESWLTE IHD GeeuheuareuDmIeT Tengd dnl L Ceuer(HLd ?
(<01 427 (<ap) 163 (@) 8+ () -8+
Which of the following should be added to make x*+ 64 a perfect square ?

(@) 4x? (b) 16x2 () 8x? (d) —8x?
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@ Crilw Foarumigen euenFULLD 6 G D.
(=) CrraCam( (<=}) el LD (@) ureuewerwid  (FF) SFlUFeuameTILD
Graph of a linear equation is a

(a) straight line (b) circle (c) parabola (d) hyperbola

AABC -wléb DE||BC, AB=3.6 G&..5, AC=2.4 Q&.15 wpmibd AD=2.1 GOg..5 erafle,
AE -ullex Barid :

(=1) 1.4 Q&5 (<) 1.8 Q.15 (@) 1.2 Q&.15 (/F) 1.05 Q&.8
If in AABC, DE||BC, AB=3.6 cm, AC=24 cm and AD=2.1 cm then the length of AE is :

(@) 14 cm (b) 1.8 cm (¢) 12cm (d) 1.05 cm

aul L gdlem Qatafliiymls Leraflulladlmbg eul L gHn@E arssamen sTOHCsTH g6
QUETWIETLD ?

(1) @ (<) @ram(®

() preupp cramenflsans () gguid

How many tangents can be drawn to the circle from an exterior point ?
(@) One (b) Two

(c) Infinite (d) Zero

(=5, 0), (0, —=5) wpmid (5, 0) % Hw Yeraflgermed jenw&ssLBD WP&ECSE TS S e
oy

(1) 0 & @GS (=) 25 &. G SeT

(@) 5 & vEseT (FF) 10 &. jGSH6T

The area of triangle formed by the points (-5, 0), (0, —5) and (5, 0) is :
(@) 0sq. units (b) 25 sq. units

C 5 sg. units d) 10 sg. units
9 q

[ Hpliys / Turn over
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10.

11.

12.

13.

x=a tan® LHMID y=Db sech creflev,

2 2 2 2 2 2 2 2

y _x _ x Y _ LY Y _
(o) 27271 ()2 727t @) 7727 (M) 7720
If x=a tan® and y=b sech, then :

2 2 2 2 2 2 2 2

y©_xT x>y Y Yy _
@ 772t ® F7z7t © FtFTl @ 57 =0

4 Q&8 2 wyepbd, 10 Qg.15 @l 68l Lupd GQamerL e Cpireul L o (Henaruder
euemeTUrLIL] ¢

(1) 40 T FHT DHOGSET (<) 20 T FHT DO GSH6T
(@) 14 7 &5IT SGSHeT (FF) 80 T FFHT SOGSHET
The curved surface area of a right circular cylinder of height 4 cm and base diameter 10 cm is :

(a) (b)
(©) (d)

40 T sq. units 20 7 sq. units

14 1 sq. units 80  sq. units

gowrer Nl LD LOHMDL 2 WD 2L @F 2 (HeT, @@ bl LHMWD 6
CarersSlen sear jera seflen elSlsD :
(<=4)2:1:3 (@) 1:3:2

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter
and same height is :

(=) 1:2:3 (rF) 3:1:2

(@ 1:2:3 (b) 2:1:3 () 1:3:2 (d 3:1:2

Qarhssuul L wdluLgefle erenel e Blapsslulder Hlapssairs @)(HEs (PlqTg ?
(<) 0.5 () 1.05

Which of the following values cannot be a probability of an event ?

(@) (b) (©)

(=4) 0 () 1

0 0.5 1.05 d 1
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14. @@ pUBSEG Ceume Sl LLgnHsTear Hl&DSS6Targ) % Gouenev dlenL_&amoe
o : 2 . . .
Qmuushsrer HsLpsse, 3 erefled, x -@er WIHLILITETg)
(=1) 2 (=) 1 (@) 3 () 1.5
2
The probability of getting a job for a person is % If the probability of not getting the job is EY
then the value of x is :
(@ 2 (b) 1 () 3 (d) 1.5
L@&d! - 11 /PART - 11
GO : sTemeuCuienid 10 elarés@rsE el welldsaybd. aflarm erewr 28 -&@
SL_L_muwng adlenL_weflésab. 10x2=20
Note : Answer any 10 questions. Question No. 28 is compulsory.
15. AxB={3,2), 3, 4), (5 2), (5 4)} eralléd, A DOMID B -5 Hreins.

16.

17.

18.

If AXB={(3,2), 3, 4), (5, 2), (5, 4)} then find A and B.

f(x)=3x—-2, g(x)=2x+k HMID fog=_gof erefled, k -@er ILIHLIG SHTerms.

If f(x)=3x—2, g(x)=2x+k and fog=gof, then find the value of k.

ab xb? =800 erermmeumn <HemLWD @\ WBlens WP(LPESET ‘a” HMID ‘b -B& STanTs.

‘a’ and ‘b’ are two positive integers such that aP x b =800. Find ‘a’ and ‘b’.

&F(HEHGS

Simplify :

4x2y
272

2

4xy><

272

6xz°
20y4

6x2°
204

[ Hpliys / Turn over
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19.

20.

21.

22.

23.

1Gemeu(HLd @)(HLIGF FLOGTUTL Iq.6 pLpBEISETET Fn(hged HMID ClLIHESSDHLIGVET &TeHTs.
x2+8x—65=0

Find the sum and product of the roots for following quadratic equation.

x2+8x—65=0

@@ waflgar 18 S fpsCs Cgarny Werearm 24 S aL&Cs Cgodlprer. QsrL&s
Blepaulledmbgl e QMmHEGD CgTenaaneals SreTs.

A man goes 18 m due East and then 24 m due North. Find the distance of his current
position from the starting point.

A(=3,9), B(a, b) bpmid C(4, —5) eraruear e CarLenops Liareflger wHmib a+b=1
erefled, a wHMLD b -udlerm WELIMLISG &TeuTs.

If the points A(—3, 9), B(a, b) and C(4, —5) are collinear and if a+b=1, then find a and b.

(=1, 2) ereorm Lyemaril eulfl ClFdeugibd, Fmiiey 4 2eLwgwrar CrraGsmiig e

FLOGTUTL MG &HT6HTs.

-5
Find the equation of a straight line which has slope e and passing through the point
(-1, 2).

/?—isg = cosec + cotd ererTLIaNg IHlemLissa, .
— cos

Prove that ,/Hﬂ = cosech + cotf.
1 — cosb



7 7722
24. @@ Havw SorsGararsder jgliLipliy 1386 F.18 erafled, ger Qwrssl
HUoUUFLenLS &Tenrs.

If the base area of a hemispherical solid is 1386 sq. metres, then find its total surface area.

25. 2 wipd 2 18 wHmibd SjiqliLglin 250 &.15 QST g 2 (HEneTuller Heum HeTemeLd: STaRTs.

Find the volume of cylinder whose height is 2 m and base area is 250 sq. m.

26. Qarhdsiul L sre|l Yarals@né@ el wpmib i§&50s1) < dweuhennsd srems.
25, 67, 48, 53, 18, 39, 44
Find the range and coefficient of range of the following data :

25, 67, 48, 53, 18, 39, 44

27. & QBLLrarmged (leap year) 53 gaflgslpanivser denl LiLishsrean Hlapsse| eremer ?

What is the probability that a leap year selected at random will contain 53 Saturdays ?

28. 23 wHmid 12 Y Hweupdlern L5.CLT.cu. Srehrs.

Find the HCF of 23 and 12.

L@&3| - III / PART - III

@Ml : eTemeuCuenid 10 aleTésERsE ellew wellEsayb. aflerm eremr 42 -5
SL_Lmwwng edenwefl&Ese|b. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.
29. A={xeN|1<x<4}, B={xeW|0=x<2} O HmILD C={xeN|x<3} el 6,
A X (BUC)=(AXB)UAXC) cremmieng &fLMT&S6LD.

Let A={xeN|1<x<4}, B={xe W|0=x<2} and C={xeN|x<3}. Then verify that
A X (BUC) = (A xB)U(A xC).

[ Hpliys / Turn over
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30.

31.

32.

33.

34.

A={0,1,2,3} wpmib B={1, 3,5, 7, 9} eresriie @@ SEMTBIGET 6Teo . f:A—B erenld &L
f(x)=2x+1 eranrs QarhHssliul_(Herargl. @Fgrrilenens Csmer ()

(i) bySGEM LLLD (i) I L euenemt
(i) ouflenssd Camgsaflen semrid (iv) euenruLLDd
< Flwenenms &H&EEHeLD

Let A={0, 1, 2, 3} and B={1, 3, 5, 7, 9} be two sets. Let f:A—B be a function given by
f(x)=2x+1. Represent this function

(i) by arrow diagram (i) in a table form

(iii) as a set of ordered pairs (iv) in a graphical form
FB(HBO ST : 93 +10%+.......... 213

Find the sum of 9+103+.......... 213

64x —16x3 +17x2 = 2x +1 GTETLFET GUTEHELPELD FHTEHTS.

Find the square root of 64x*—16x3+17x2—2x+1.

3 1
A= [_1 2} erafled, A2—5A+71,=0 eran Flmieys.

3 1
If A= [_1 2} show that A2—5A+712=O.

Ggeev Coppsans er(pdl Hlipisselib.

State and prove Thales Theorem.



35.

36.

37.

38.

39.

(=9, —2), (=8, —4), (2, 2) LHYD (1, —3) PFw YeTaTlsemeT (PererEHaTTES Gl TeuwTL
BIHSISSlen LTFLienLss Sres.

Find the area of quadrilateral whose vertices are at (=9, —2), (=8, —4), (2, 2) and (1, —3).

A(—4, 2) bpmiId B(6, —4) eTenmm LjeTallFHener @Qeemm&H@GLd enowld &S5S5IECEHTL g 6o
FOGTUTL DL & SHTEHTS.

Find the equation of the perpendicular bisector of the line joining the points A(—4, 2) and
B(6, —4).

@@ sluO&ET smsomy alarssssler @@ LSSBISTIQD S0l LWL6wTLD
Cewdlermer. @@ sULOsaNO(HES soBsmT alarTsssdear o Ffuller Hms
Caremrhiger wpenmGui 30° wHmID 45° Y,@GD. somsmT cllaTéssddlen 2 wirb 200 Wb
rafile, Q@ sLUULSEREG QLG 2 drer Lgramamels srans. (/3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of the
top of the lighthouse as observed from the ships are 30° and 45° respectively. If the lighthouse

is 200 m high, find the distance between the two ships. (/3 =1.732)

45 Qg5 2 wyepeTer ff QL sasaLgdler @@ LDp < Thisar wapCGu 28 GlF.0
HmLD 7 QF.15 erasfle, QDL_EHEMTL_SIH 6T ST DHTENCUSH ST,

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, find the

volume of the frustum.

6 QF.15 <rb wHmb 15 Q&5 2 wrb Qarar e GBI Ul L 2 (HeneT 6ulgeull
LrSSTD ppeugions Lafldamp (Ice-cream) 2 6TeTg). Db LSS PTang), FaldL]
LHMILD ADF&ECHTTD @anenhs eulgauddle BlriuiiuGdng. sabller 2 wiyb 9 Gg..5
LHMID Y rb 3 Qg8 erafle, ursdrsde o drar Lafldamenl HFliL aTssamans
FalbLsem CHeneu ?

A right circular cylindrical container of base radius 6 cm and height 15 cm is full of

ice-cream. The ice-cream is to be filled in cones of height 9 cm and base radius 3 cm, having
a hemispherical cap. Find the number of cones needed to empty the container.

7722
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40. 24, 26, 33, 37, 29, 31 g dweupdler LIMUT(HE CEHLPneLs SHTewTs.

Find the coefficient of variation of 24, 26, 33, 37, 29, 31.

41. @Qrew(h USLEET e (pem 2 (BLLlu@dleamer. pge LsamLuled 1ps wHlLiL
@rleL 1 UL eTam g (P& wIllLseier amBHge 8 -ss Hal LIusnarer
BlEDESHMEIS STeuTs.

Two dice are rolled once. Find the probability of getting an even number on the first die or

the total of face sum 8.

42. 74774777+ oo, eremmp CsrLim euflepgullen n o mliLseflen sn(HFed SHmemwrs.

Find the sum to n terms of the series 7+77+777+..............

u@&3 - IV [ PART - IV
GO : Semesisgl Nanmss@rsEn alenlwafldsea]b. 2x8=16

Note : Answer all the questions.

43. (1) PQ=45 Q&g.15, R =35 whmbd 2 &8 R -uledmbg euenrwiiui’ L pH&CHTL g6
Berd RG=6 Q&5 eream ojenwwjwomm APQR auanys.
S|6V60F)
(=4) 6 Qa5 el perer eul L b auerhg el Lgdler ewwsHelmbg 8 Gla.
Qgreneailer P eremm Leteflenwsd @MlEseyd. SiliLjeretiudedmbg PA wHmib
PB eratiy @) CarhHCasrhiger cuanrhg eubdlen Hermigamer ojearedl(hs.

(a) Construct a APQR which the base PQ=4.5 cm, |R = 35° and the median RG from R to
PQ is 6 cm.

OR

(b) Draw a circle of diameter 6 cm. from a point P, which is 8 cm. away from its centre.
Draw the two tangents PA and PB to the circle and measure their lengths.



44. (=) y=2x2-3x—5 -wllern cuepTLIL LD cueTHE, A& LiwerU(BSH 2x%—4x—6=0

(=) xy=24, x, y > 0 6TeMD GUMTLIL MG GUMIE. auemTLL S LweTUHSS),

11

eTeM FLETUTL ML G STH&SeLD.

S|6V60F)

(i) x=3 crafled y -0 sTews.

(i) y=6cTafled x -|& FHTeS.

Draw the graph of y=2x2—3x—5 and hence solve 2x>—4x—6=0.
OR

Draw the graph of xy=24, x, y > 0. Using the graph find,

(i) vy when x=3 and

(i) x when y=6.

-00o0-
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U@&3| - 1/ PART -1

@Y : () IS g elamsasEpsEL allenL waldse] L. 12x1=12
(i) GarGssuul(Herer mrem@ WwWrHM elenLsafle) W& 6rmHLjenL Wl
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(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. 2aCrrsdlu engebd eremigl eTgem ULl LaTum@Gh ?

(1) Geurr (<) g;G&OT@ (@) @mwaseh (rF) evrger
The endarch condition is the characteristic feature of :

(a) Root (b) Stem (c) Leaves (d) Flowers

2. TFM eremmug) Gaemilen erhg LGS Qurmeners @GMlsSng ?

(=) srgl o Ly (<) emeuLl_L O

(@) Gamupliy QuimmLger (rr) srrCumenant Gl
TFM in soaps represents content in soap.

(a) Mineral (b)  Vitamin

(c) Fatty matter (d) Carbohydrate

3.  Gumg eumuyy wrhledluder &L
(<=4) 3.81] Comep~ T K1 (<) 8.03 ] Gure~ 1 K1
(@) 1.38] Gwme~ T K1 (rF) 8317 Gume 1 K1
The value of Universal Gas Constant :
(@) 3.81Jmol 1K1 (b) 8.03] mol~ 1K1

() 1.38 ] mol~1K-1 (d) 831Jmol-1K-!

4. FlCem eurl waenfl eTemg THEIMLI S, ?
(=) WleGenL TeuT (<) WesL 58 e
() e <ypmed (/) Bler Hme
Kilowatt hour is the unit of :
(a) resistivity (b)  conductivity

(c) electrical energy (d) electrical power



3 7729

DNA -eeu Gleul L1 bweruhib Cprs

(1) yGrmiigCuien (<) Qrevi_M&even erawrGLmbluseflGuien
(@) DNA avaGsen () RNA Qprélser

An enzyme which cuts DNA is :

(a) Protease (b) Restriction endonuclease

(c) DNA Ligase (d) RNAase

e Come eremLig) CPOEIMSETE ©lSTETg (S ELD.

(<) 6.023 x10%3 (<) 6.023x1072 (@) 3.0115x10%  (rF) 12.046x10%3
One mole of any substance contains molecules.

(a) 6.023x10% (b) 6.023x10723  (¢) 3.0115x10% (d) 12.046x10%3

sanevenod &TLl erer @GOG LL(heug ergl ?

(<) Wellwed &yl (<) 9yl &rod
(@) engyml@ &ylid (/F) o Mered &rin9
Which one is referred as “Master gland” ?

(a) Pineal gland (b) Pituitary gland

(c) Thyroid gland (d) Adrenal gland

srhm el w&THEEEF Csrdms Bl umb sreugmseier ueaTLsGerm(H
Qgr_mddeorsg ergl ?

(=) DEOTSHET GFITETONGT &EFHESESHSETHMT 2 HLSGS ClFidleamer.

(=) Gopywrerg Quilugrseab, QeuelCw BiligsCararhind @maELb.

(@) waergeT B, wenrd LOHMID CHeT FT&EGL Serenoulenamd ol TeTi (HdELD.
(FF) LEIBESESHSETHET SPMWSTHa|D 2 OMHSSTHED @) (HEHELD.

Which among the following is not the characteristic of anemophilous plants ?

(a) the flowers produce enormous amount of pollen grains.
(b)  the stigmas are large and protruding.

(c) the flowers are brightly coloured, have smell and nectar.
(

d) pollen grains are small and dry.

[ Hpliys / Turn over
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10.

11.

EPESETL_oUDMIET HlenaDD THEEF FTTHSS ?

(=) GQumrmefilen erenL (=) Cametler il Wp(H&SWD
(@) Qurgaier Hep (M) (1) wpmid (<)

Inertia of a body depends on :

(a) Weight of the object (b)  Acceleration due to gravity of planet

(c) Mass of the object (d) Both (a) and (b)

@rss @l Lgder sflwrer eufleng erg ?

(=) CeuanrMgHler — eriflwib — Hevy — sioe
(<) giflub — Qeuamfsdler — Hany — sloe
(@) giflub - Ceusm MNadler — gwafl — Heany
(rF) QeuerlM&dler — Heny — eriflwibd — sioe
Which is the correct sequence of blood flow ?

a) Ventricle - Atrium — Vein — Arteries

(

(b) Atrium — Ventricle — Vein — Arteries
(c) Atrium — Ventricle — Arteries — Vein
(

d) Ventricle - Vein — Atrium — Arteries

Gemeu(meuameudmieT 6Tl “Seflobd + el — CFTobh” euams 6 ?

() 2CO, + Oy —>2CO, (/) 4Fe g +30,,—>2Fe,05

2(g
Which of the following is not an “element + element — compound” type reaction ?

() 2CO(y) + Oy —2C0y (d)  4Fe()+30,4,—>2Fe,05
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12. erh8edlwed GQFevadled LHmIGCHTL 2 (HeuTeusn (S erem Guwi.
(<) wsCalwr (<) gri&EGamom
(8) smidlGenmiom (/F) elLGumom

Cancer of the epithelial cell is called as

(a) Leukaemia (b) Sarcoma

(c) Carcinoma (d) Lipoma

L@&3 - 11/ PART - 11

SO : eTemauGuend a7 efarTs s @hd@ allen_waelldse b, eflarm eram 22 -&@&
SLLTwng 6SenL wefl&Ese|b. 7x2=14

Note : Answer any seven questions. Question No. 22 is compulsory.

13. Gsmhp Geulin eflfle] @Gearsd eTemmmed eTerer ?

What is coefficient of apparent expansion ?

14. Wemeflenlp eflers@saiianr Lmievar 2 Carsnd LwearUOHSSULOEDGE. perme LWler
2 (hdl QeppWwrs gearl LwerUhdgHleusdlena. erer ?

Why is tungsten metal used in bulbs but not used as fuse wires ?

15. & eraLg) eTenas ? GI(hH 2 (HeUMG6USET FGTUTL ML S &(Hs.

What is rust ? Give the equation for the formation of rust.

16. GenL eTaimmed eTesme ?

What is stage ?
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17.  ensCenm eriflwe sewm “@swsHen CLeVCLEST eremm el HP&SSUILIHSDSE ?

Why is sinoatrial node called as pacemaker of heart ?

18. e epenerudler LITGBIGET Wrenel ?

What are the parts of the hind brain ?

19. Qasr@ssiuul(Herer LLGHed A, B, C bpmibd D <l LUTEHISmeT 60l WTeTLD

HTETG LD.

Identify the parts A, B, C and D in the given figure.

v

20. Qsreevl g (FOLT) 6rempmed eremer ? LiTed 2 HUSHWLTTE anTiGLOT6TE6TTe
ereueUTm @(PBIGUOSSLILIGF DG ?

What is colostrum ? How is milk production hormonally regulated ?

21. QL revLTélev Temmmed eTese ?

What is metastasis ?

22. g sarsedler pH Sl 4.5 eraflé, oiger pOH wSllienus srems.

If the pH of a solution is 4.5, find the value of its pOH.
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U@&S - 11/ PART - III

GO : eTemauGuend e efarTs s @hd@ elen_welldse b, eflarm eram 32 -&@&

SL_L_muwng adenL_weflésab. 7x4=28

Note : Answer any seven questions. Question No. 32 is compulsory.

23.

24.

25.

26.

Blepawsler LiGeun eumssmeT 6T(HSSHISHTL(N&HEHL6T cIlemd:@s.

Explain the various types of inertia with examples.

(<) Qupens wHmiIb Gswnens sdflusssdler rCseID PLPETM LIGRTLIHENET 6T (LS.
(=) WenGarml_Lgdler Geuli efenerenculs LweTU(RHGS CsweouBn @rem® Ller

grgeanmigeten GUwfamens smms.
(a) Write any three features of natural and artificial radioactivity.

(b) Name any two devices, which are working on the heating effect of current.

(=) MgSO,.7H,0 2 Lilener CQeulilin(®hsgbGurg) ereer Hlapdmg ? @)eueilenens-
&TE FLOGTLITL Iq 6DE 6T(LHG)IS.

(<=4,) sTHmerr — eUETLMIGSELD.

(a) What happens when MgSO,.7H,0 is heated ? Write the appropriate equation.

(b)  Define : Solubility.

(Sl) FQUTEF [F6Y GTETMTE) GTEITET ?

(<) el CorsansullarCumrg @ mer ellenand@ (et erem eafl ellenar BmenL_GlLm
Couamt(hLd ?

(a) What is Respiratory Quotient ?

(b)  Why should the light dependent reaction occur before light independent reaction during
photosynthesis ?
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27.

28.

29.

30.

31.

32.

(PUISET Lied eUMILILITL Iq6NET 6T(LPSIS.

Write the dental formula of rabbit.

(=) sreurmser LHML alem@Gseaie wiletriy Hlame FTSSLTRISTS 66l
s®sILGSEDG ?
(<) Bluyrrenser eupblen Senwliber ojqlital uled eredelmm euansLiLhgsLi-

UL (heTere ?
(a) Why is Euploidy considered to be advantageous to both plants and animals ?

(b) Classify Neurons based on its structure.

SLafl&@Ehb, SanrseEph Sjewliber ojqliuemLuild ereueurn Ceumubhdlermer ?

How are Arteries and Veins structurally different from one another ?

ULy @& SralfFedlilc rarlSenaT eUeTLNISE, S (PEHWSFHIeISMS 6T(LPSIS.

Define Ethnobotany and write its importance.

(=) srplubernmed gHuL &gl eleneTe|HeT WTenel ?
(<) DNA &llyeb Grenss Csmfler milLgdlen menl(penm LILETUT(HSM6Ts Fnmid.
(a) What are the consequences of deforestation ?

(b) State the applications of DNA finger printing technique.

(=) erhg @leb gidlaflu o Carssans CeuwuLT HlanwsaE o L LHSSHID ? erer ?

(<=4) 1.51x10% pp@ddam 2mLw NH,Cl -en Cuordseaier eremmanilsandsemwd

FTES (5.
(a) Name the acid that renders Aluminium passive. Why ?

(b) Calculate the number of moles in 1.51 x 102 molecules of NH,CL.
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UGS - IV / PART - IV

SN : Siemensgl HamssEpsEh elelweallssea|b. Comeuwnrar @Lkisafler LL LD

Note :

QUM T WG LD. 3x7=21

Answer all the questions. Draw diagrams wherever necessary.

&N GlevETHl 6T LILIGTEHET WITene ?
Blplidflens — euenyLUmISESa|LD.
CurE@euUrsgIF engens allenéGaer SlalliL) Hingdle) emn&sLILI[HEUSET HTTamTLD
GTEuTeT ?
BEHD HlewTGanradulern FSDmerey ereme ?
S|6V60G)

er$Clymedl eraTmmed 6TENET ?
er$lCrmell Calgnarer Qe HlUbSHETHMETs Fnmis.
er$lClymedludlen mSHIEIL LILIGTSEENETS Fnnis.
erdlCrmallenwits LweruhgS eedlufen HansColssmss SmemTs.
What are the uses of convex lens ?
Define dispersion of light.
Why are traffic signals red in colour ?
What is the least count of travelling microscope ?

OR
What is an echo ?
State two conditions necessary for hearing an echo.

What are the medical applications of echo ?

How can you calculate the speed of sound using echo ?

[ Hpliys / Turn over
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10

eGr Geulu 9iwss Hleneuded 3 6. O,, 5 &0l. Cl, Hmid 6 60l. H, aumr&ssenarr
T (5% QETesTL 6
(A) ety Fs eramanilGanguiliorear cpdsamsamers ClETemiq(HHEGD ?
(B) Tl GmmhS eTranTeanmtl&EangHularer (LpasanmseeTd Ol&Teiq(Ha@G0 ?
m@ﬁ@‘r Slamis Caretenguienr CamlLm(hasamer 6T(Lps)s.

VOV
gL TClepaRr g6 ereueumm Heny wrsliu@Bsgdeamen ?
@@ sfws Carwd ‘A" erarugen epssam eumiiur® C,H,O0,. @g
ugslu(OSgISeler LwearLBdHng. Coaib asFarmaar alamerflbg
@aflwu wewripen_wi Carod ‘B -anwid SmEmg erefle,
(A) Ceod ‘A’ -eowd SaTLmls.
(B) Gaod ‘B’ 2 (Heunse ellenemuiiene 6r(ps)s.

Q) @nhlspeinEl Cuwi@s.
Under same conditions of temperature and pressure, if you collect 3 litre of O,,
5 litre of Cl, and 6 litre of H,,
(A) Which has the highest number of molecules ?
(B)  Which has the lowest number of molecules ?
Give the salient features of ‘Modern Atomic theory’.
OR
How do detergents cause water pollution ?

An organic compound ‘A’ is widely used as a preservative and has the molecular
formula C,H,O,. This compound reacts with ethanol to form a sweet smelling

compound ‘B’, then
(A) Identify the compound “A’.
(B)  Write the chemical equation for its reaction with ethanol to form compound

‘B’.

(C) Name this process.
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Qeupens <, sedlanger eranlienel Wreel ? T(HSSHIEETL(H S(Hs.
LSGD STeurssler 2 6Tem @Goassdlen Senlienll LITESD WwHmID UL S| 6
eNlemd @ s.
S|6V60F)
“@iSl usamwl LIl fuller shang” eTer enpdsLIL(HLelT wirr ?
o sl wpnibd Qesessoriy] — CoumBhEsis.
auens 1 wpmid euens I Bflifley Crriisamer CoumLi(Hssg)s.
What are synthetic auxins ? Give an example.

With a neat labelled diagram, describe the parts of the typical angiospermic ovule.
OR

Who is called the “Father of Indian Green Revolution” ?

Differentiate between out-breeding and in-breeding.

Differentiate between Type-I and Type-II Diabetes mellitus.

-00o0-
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ANleyemrsen : 1) <mandg alemmss@hd sMlurs oiF&0 Lfeirdl o 6Tensm erearLISemeT
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Instructions : (I) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@Ml : Qeualermsgrer mrenE LGHaamend Caramg.

Note : This question paper contains four Parts.

L& - 1/ PART -1
@Oy : () s g elammssEpsEh allenL walése] . 14x1=14
(i) Garhssiul’lL mremE wrHn ol galled Wasea|b gHLenL W
e wlenear CasrpOshsss GMULGLer el ulmaryb Csrgg
CT(LPSELD.
Note : (i) Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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1. OgrwealCur® WBuealsd o Laugsamsuiier asCuupsd L Gfl_ear Grgor

wir ?

(<) Cabuimedle (<=,) eflemovL_em FT&ES 6L

(@) eomuil gymireh (/F)  evGLeimedl Limev(Hedleor
Which Prime Minister of Britain signed the Munich Pact with Germany ?
(a) Chamberlain (b)  Winston Churchill

(c) Lloyd George (d) Stanley Baldwin

2.  wrren Curt ersnaETs Hlenare] sanliLihdng ?
(=) @srul Currpenm (=) ugIRIEGS GWIL GurTipenm
(@) Breppdls st Curiwpen () sLpuent GUTTpeny
What is the Battle of Marne remembered for ?

(a) air warfare (b) trench warfare

(c) submarine warfare (d) ship warfare

3. a&lgemeu mews FBGSMS FHUBSS Welr

(=) warGseu Careilps rrenGL.  (<=,) CaCeunbdlrprs Sren

(@) Cagrdlur LGe (FF) SWwessmarl

was the founder of Widow Remarriage Association.
(a) Mahadev Govind Ranade (b) Devendranath Tagore
(c)  Jyotiba Phule (d) Ayyankali

4.  oTHS Aper(h UTTET QRUILIBSLD SMeOSSHLILILL & ?
(<=1) 1979 (<) 1989 (@) 1990 (FF) 1991

In which year the Warsaw Pact was dissolved ?

@) 1979 (b) 1989 (©) 1990 (d) 1991



3 7736

souLreiws suupuamL. ACwféEs suupuamLwred rmGs CHmMHEigsslLL g ?

(<=1) saurL@bsearme Gumm (=) LOICGeu Cuimrr

(@) GevetlendlCri Gumr (FF) eTed Sjeumblwwies Guim
Where was the Japanese Navy defeated by the American (US) Navy ?
(a) Battle of Guadalcanal (b) Battle of Midway

(c) Battle of Leningrad (d) Battle of El Alamein

S,MISETET LHGLD 2 (HEUMGLD LDEWT
(1) Gl&bewr (=) sflged wewr (@) uTemewe T  (FF) GUERTL LD

The soils formed by the rivers are :

(a) Redsoil (b)  Black soil () Desert soil (d) Alluvial soil

LpGaunarh el rHlenki&EhsslaL Gl eBE)ETeTs).

<) CHE GUBRISTETLD LHMILD 6lq &I

8) @uer PO BETOATGEED

™) SWOPpBrEH LHNID YBHTIATCssid
Pulicat Lake is located between the States of
(a) West Bengal and Odisha

b) Karnataka and Kerala

(
(c) Odisha and Andhra Pradesh
(d) Tamil Nadu and Andhra Pradesh

(
(=) srBrLsT O Cayerm
(
(

YeremenL_ WD LI(HeUSSTHm) Ol(mBg FILULSSMS T(HEEE5 CaTardng.
(1) 798 L6 (<)) UBIGS HL 6D

(@) @bdHlws ClLmhisL (FF) esepis SL6

Retreating monsoon wind picks up moisture from :

(a) Arabian Sea (b) Bay of Bengal

(c) Indian Ocean (d) Timor Sea
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9. @pSwurefer s wWEsETAFZTNE FamsOasOHULy <D <y amr(h
CupelsmererliLil’ L g.
(=1) 1991 (<) 1881 (@) 1872 (/) 2011
In India the first census was carried out in the year .
@) 1991 (b) 1881 () 1872 (d) 2011
10. U@BeGETHN ST(HEHET GTame|ld AenLP&HSLILI(HElemment.

9| ) ST T LIFENLD LOMMTE ST (H&6T

(
(=) @emowdlis srhser

(@) wrmEGrmey smhHser

(rF) s ST(haer

The monsoon forests are otherwise called as

(a) Tropical evergreen forest

o>

(b) Deciduous forest
(c) Mangrove forest
(

d) Mountain forest

11. &5 @@ prhsErsdaGu LErFfo @UUBSD swpsSLLiul Hererg ?
(=1) @bSlur wHmib CrUTETD (=) @bSlwur wHmIb LTdlevgrer

(@) @pSHwur whmid Eerr (F) @BHwr wHmID UHomsT
The Panchasheel Treaty has been signed between :

(a) India and Nepal (b) India and Pakistan

() India and China (d) India and Sri Lanka

12. wrile oemwssraeiuder Samaeur :
(1) ps@awsst (<) @ppi
(@) surprwsT (FF) rsd SiemwEsT
The State Council of Ministers is headed by :
(a) The Chief Minister (b) The Governor
(c) The Speaker (d) The Prime Minister
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13. &rl (GATT) -@eéi (psed &Om FenLGLpHm @)L 1D
(=) CLrmasdlCur  (=),) 2 mECa (@) Lrr@Geu (r) Gsgeteur
GATT’s first round held in :
(@) Tokyo (b) Uruguay (c) Torquay (d) Geneva

14. @nHureled, 2 eserreilu Clumg alphise penenw Fomis Clarear Gy wrhleb

(=1) Carerm (=) < BSTGrCasan
(8) sWlpprhH (FF) STBTL&T
is the only State in India to adopt universal Public Distribution System (PDS).
(a) Kerala (b) Andhra Pradesh
() Tamil Nadu (d) Karnataka

UGS - I / PART - II
@MY : eTemeuCuenid 10 elarrés@rsE el wellEsa|b. eflarm erawr 28 -&@
SL_L_muwns adlenL_weflésab. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.

15. 535 SonWps Hlapamaells LnHMl 6T(ps)s.
Write about the Pearl Harbour incident.

16. SmOmGeuad er(pdsl ummMl e GMILL cuenrs.

Write a note on the Tirunelveli Uprising.

17. “Lref gsrdlugsdubd”’ — euenrumsse,L.

Define “Dollar Imperialism”.

18. GQuflwreny e Cueamatlweurdwirs wHghHs.

Estimate Periyar as a feminist.

[ Hpliys / Turn over
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19. Aribw sorRssTed @PSSIULL Spsd Smwasamarts Ll gl (his.

List out the Social evils eradicated by Brahmo Samaj.

20. siflged wearenflen rCgeaid @reawT(h LIRTLSM6TS Fnmis.

State any two characteristics of black cotton soil.

21. sLhserE Fleuefl ereueurm o (Heurdlmg ?

How is coastal plain formed ?

22, FOIPHBTLIgem GCeueTmeT LI(HeUs: HTQBIGEMET 6T (SIS

Write the cropping seasons of Tamil Nadu.

23.  ‘LUmeienlp GlealiqLiL]” eTeTmTed 6Terer ?

What is ‘burst of monsoon” ?

24. LIRS LWEs®merd @GDULAHS.

State the uses of Manganese.

25. @pSlus GiqwrsEs sl ereualmm CsrboghssluBEnmr ?

How is President of India elected ?

26. @npSluredler oamen Brhsetier CUWTSEMET 6T(LpS)Is.

Name the neighbouring countries of India.

27. 2 @sbWbrEsdle CHTOmDWNET STESHIGE eraneUCWeD G)FeaTq e 6T (LSS

Write any two positive impacts of Globalization.

28. OQeamener “<ywmredler G rmil” eremm enpdsLiti(heug) erem ?

Why is Chennai called “Detroit of Asia” ?
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L@&3| - III / PART - III

GO : sTemeuCuienid 10 elarés@hsE el walldseayb. alarm erewr 42 -&@

sLLmwwng allenlweflEsab. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29.

30.

31.

Camgl L @)L migemer HlrliLs.
() @ndwurefer wpge Guer s erm o miliberT <G,

i) HpsEs CgrLrdsl weaoullear Cgear LGS uld o drer 2 wrnrear Ssrb

_______ G W.
(ili) wrHlomsamame 2 mUubearigseafler LFeSNGsToOD <2, @T(HSETT(GLD.
(iv) mréls Cerwefluler rafws sreudLem TG DAMPSSHLILILL G).
(v) @Qpdureild  giop (pgeTeodg SoDUTELD.

Fill in the blanks.
(i)  The first Woman Legislator in India was

(ii) is the highest peak in the Southern part of the Eastern Ghats.

(i) The members of the Rajya Sabha are elected for a term of years.

(iv) The Secret State Police in Nazi Germany was known as

(V) sector is the primary sector in India.

uenerm_(H§ FmissSlen Lianflganer wHOGHs.

Estimate the work done by the League of Nations.

@ndwredler flellenars@Ll Gemeammed QMBS STreRThIGeET 6leurdlsae, L.
Discuss the reasons behind the Partition of India.

[ Hpliys / Turn over
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32.

33.

34.

35.

36.

(=) CapuBssis.
() Ceuermesr TS LOMID SflD FTTHE CSTHSEBSET
(i) 26T cuamilsbd wHmID LT (h euemilsD
(<)) STFETD FoMmIs.
UL GBS HMSET UDDTH MIGET.
(a) Distinguish between :
(i)  Agro-based industry and mineral-based industry

(ii) Internal trade and International trade
(b) Give Reason :

North Indian Rivers are perennial.

SlglitenlL 2 Menwgemers GDHILILAHS.

Point out the Fundamental Rights.

@uuwwemauier o I ldfleysameruybd, @bdHlwredinG uger WEHWSHeUD LHOlu|b
leuf&Esab.

Explain the divisions of Northern Mountains (Himalayas) and its importance to India.

BSTLOWILDTESLD TG TeIa ? FHen FlEsHesamer alleuflEsem.

What is Urbanization ? Explain its problems.

@ndwraied o crer LiMmSSH CBFourengaflen LFeued LHM 6T (SIS

Write about the distribution of cotton textile industries in India.



37.

38.

39.

40.

1857 -<ylb Spewriqen QU@L Yl Hésmen sTrenThiser GNlSg <4rmueLd.

Discuss the causes of the Revolt of 1857.

Qeueflymeysds Gamerensant Hlammuils@d ojiqliLenl & Sryamflser ereneu ?

Discuss the basic determinants of India’s Foreign Policy.

Qurgs 2 emprl(h 2 husd (GDP) samsSl(Hib PEmSET WMol ? <eneUsener
leuf&salb.

What are the methods of calculating Gross Domestic Product (GDP) ? Explain them.

S(HLIL| LIGRTLD GTEMITE) 6TGIET ? HSMETE SHTTEThISHEET 6T (LGS

What is black money ? Write the causes of black money.

@il : wmnisdHmesmafl wresreuitset srsECaT(H LHMID cumTULSGSHE® Hlapa|samerud

@Lmisamerd GOLEL{H srl(heugn@ Ldeors jeuhenmis Lndlw @GolLiLser
(b er(pd GeuemT(HLbd.

Note : Differently abled candidates have to write only notes for the questions related to

41.

Time-line chart and map.

EpssrauaalDin@ STsECHETH eUamTs.

1920 pged 1940 auempuiloorer arhisl @ o LUl L WpaHlwu Blape|ser gCsen b
shdlenar ETsCSHTLIge 6T(Hg)s.

Draw a Time-line for the following :

Write any five important events between 1920 and 1940.

7736

[ Hpliys / Turn over



7736

42.

GOy :

2 W& aumrUL Sl emeumd @)L BSmeTs &MHlése, L.

)
(i)

10

&ifeiv
8558
ahlGrradliom
wrevGsm

grerrredlevCar

Mark the following places on the map of World.

)
(i)

Note :

43.

(1) e 2 slCUMmESTaT (PESHWS STravThiIsamer alleufl&se,Lb.

Greece
Turkey
Hiroshima
Moscow

San Francisco
U@ - IV / PART - IV

Gemeumld ellamasEnd@ edlenLwefl&se|m.

Answer the following questions.

S|6V60F)

2x8=16

(=) HlpsdpHu sbvCuailwreny rdisg efruramgw sl CQurbwer BL G w

(a)

(b)

aipdrls Curiger uDM @ SL(HeT cUMTS.

Explain the main causes of the First World War.

OR

Attempt an essay of the heroic fights of Veerapandya Kattabomman, conducted against

the East India Company.



SOl

Note :
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wronsSnesnefl wrewTeuTgHeT auanTUL QsTLILmLW SerTssEhs S
GDILIL&ET L (DD 6T(LPS@LD.
Differently abled candidates have to write only notes for the questions related to

map.

44. () Qarhssiul(Herer @bHw cuenyLLSHed SPEETEmID @)L hiGmerd @N&sHe]Lb.

i Cerlim preyfl Sy

(i) &mrGsmyd

(iii) LG FHT(hEeT

(iv) <ifls we upb LGS

(V) UmTenew LOGwT

(vi) adlrr@Ll ienewt

(vii) S&sSHwr wene 2 udTCsmerts QL L &b
(i) UEs8) oflevemii> L)

S|6V60F)

(=) Qar@ssiiul_Berer sOPHETH UL Hd SpEsTand QL hismers

GDESH6LD.

i) emeuens M

(i) Carerm

(i) Csullene afleneruyd LGS
(iv) GampeTL o SLheHer

(v) &rdls Qsmplosd

(V) glopwsd (gGaeib gam)
(vii) GFeTene

(Viii) LDGTGOTIT GUENET(GLIT

[ Hpliys / Turn over
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(@)

(b)

12

Mark the following places on the given outline map of India.
i)  Chota Nagpur plateau

ii) Karakoram

iii) Mountain forests

iv) Area of heavy rainfall

(

(

(

(

(v)  Desert soil
(vi) Hirakud dam

(vii) Agasthiyamalai Biosphere Reserve
(

viii) Area of cultivation of cotton

OR

Mark the following places on the given outline map of Tamil Nadu.

i)  Vaigai river
ii) Kerala

iii) Tea growing area
v) Paper Industry

vi) Sea Port (Any one)

(

(

(

(iv) Coromandel coast
(

(

(vii) Chennai

(

viii) Gulf of Mannar

-00o0-
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Language — Part IV — TELUGU

Time Allowed : 3.00 Hours |

[ Maximum Marks : 100

GRHPE JoI b KO ITEHIS BDAHEABNK.
(2) TROTERE $508OTD @osEB NS DaTERE Jwo Bor Bend Gord VTP SIS B0

SDABIPA0S0E.

geK&n -1/ PART - I

(15 S»dyen)/(15 Marks)

&8 8o 8 $BY JFrgraren doHsiod.

Choose the correct answer.

“JAE” @0 HEBNIB @géao

(») TR () Toew

“333%” O HABB0ID  HogahiTren

() 08, DY, @g () &%, %0, B

‘Y OB HBI0IB (DE)E (F°500.

©) H%o (©) Sopo

“RPERN0”7 98 HBHNIH @é@)@ (55° S0 0.
() B8RS0 () o8

“2300” @ HBHNIBH mmgéww
(») &do, ﬁzﬁaéé

(3) é{ggo, DEE

()

()

()

()

()

DB

8 1 (1) (3 SBF S0(@eaddn I8 &Hoe o Sedodkn. Sn(Beas® DB &8

15x1=15

DB, Teohdo, ®80

%e)oméo

X
L8

Dy, H&3%

[ Turn over
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6.

10.

11.

12.

13.

14.

15.

“BarocHo” 0k HSEn JEED (Feasns.

(®) BHL + secHo (8) B + esoho (8) BSE + oo
“eBHoPED” B 0H.
() ézﬁgég K08 () =308 Jod (n) Koed0H

SESPES I ) Beren ?

() 3 () 2 (® 4
PP TTPeD B8SH0en.
(®) 5 () 4 (® 3

SEOLIOVININ] Bseen ?

() 2 () 3 (=) 4

8od QS Bewid Ko D& ?

(®) ®eedod () o308 J0H (=) éégég SelA)
D88 38, 8«8 &5 DG (D&gasTen.
() (DFSe D8 () &‘Sé;éo‘ﬁw D8 (=) é@éo‘ﬁﬁ D58

Bod TS ByEgssm Hb ?
(®) oy (©) 8% (2) Y

Bod e’ Qs g0 2B ?
() & Keso () & Ke0 (=) & Keso

e Sweo So(EooRB (HSPBoHH. BO O WLOSELD ?

() BrHE weose8o (8) &SI reoz80 (38) ©8ITrE woosedo



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

3

geiiso - I/ PART - II
(18 Sedyen) / (18 Marks)
DerKSn - 1/ SECTION - 1

& (808 S AR Teid (BHoH 235°20050).

Answer any four questions from the following.

BB DS (M BHS S ?
BE)S Boo 008 IendED 3%?3336 ?
Dy B 8 oo DG BHod.
QENN0A FLY Ho8 BHen S0 ?

BERE, R A0S 8D B ?

808 BHE es52pea0d8 A TP IS ?

Ngriisdo - 2/ SECTION - 2

& (8o aS® DAY B (HHH eTra0dSy

Answer any five questions from the following.

P50 OITID ? SresBeLn
oRen A ? @ 2D ?

ﬁégé&g} Q08 Q@ (Feainsdw.
SEEPSTOSD OSTID ?

6EOIPO Keanod Sens)sn.

&5& 090505 206&‘307‘3, emgﬁéw@m&

8ITrE WOOTEINIL GTESen Bensdw.

7751

4x2=8

5x2=10

[ Turn over
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29.

30.

31.

32.

33.

34.

35.

36.

37.

griisdn - III / PART - III
(18 SS3en) / (18 Marks)
Depiféo - 1 / SECTION - 1
DIV Bod (BHoH 235020050,

Answer any two questions from the following.
BN KoRersSsH DNB0Bo&.
Evinafels) oé&?éé?oo@@i@m@ 8o ':598‘260&.
2PSHE BOSPO IS ot FerdHoerdd ?
QAo - 2 / SECTION - 2

DIQ Bot DO eaendn). 34 § (DY) SHE (TAHISL.
Answer any two questions. Q.No. 34 is compulsory.

BYE 3D ES €208 B0 HOI &% BoHod.

BHB0S® 2 Be HBHE e &0 ED HPotd ?

() Kg)écg BACD e, 9 se8A0HoK 9k IAIEWEN FBorED B8 (Fecinsn.
5 nd
() Bodwe BIYE oo aaégréavef@&ﬁ % DD JoSorsn BE (TeSnsw.

Deriidw - 3 / SECTION - 3
DIV Bt (HHOBH esranen (FOA0.

Answer any two questions.

FODNENPL 5 OFLVOD K0 (FPS50X.
BPHTPOoTEMD K8 (PAinen.

BR08K VIR 00N STPSEHNS® (Feanm.

2x3=6

2x3=6

2x3=6



38.

39.

40.

41.

42.

5 7751

giisn - IV / PART - IV
(25 &rdyeo) / (25 Marks)

o) BHeBH wrend 5x5=25
Answer all the questions.

()

()

()

()

8% éaaé 8 FeBgerr FTeoTR) (Phod.
S
SHR) FBgErN FTe0TR) (TPAHod.

fafebted &oa}a%’sﬁsm?gzéo 3°é§ej°ﬁ FT0BY) (@°0od.
Sae
S0 D BT FPTCoTR)) (@FPHo’.

BeniHSPRE 9S50 0HED.

We have rich forests in our country. These forests give us many useful

materials. They give us timber for building our houses, ships and boats. They
give us fruits and honey. They give shelters to many animals and birds. All these
are our wealth.

808 KEGENKD SO (HHOH VLRSIV (FPA0.

e RS FroeS® eramBE® 1990 £r8) 175 aomrth. 88 edroed, Sold

5845 2of. 89 Bothe BFer)ros® Srtnrr HBe FE8508 B5eae® 85 (HBLH DEIHHBEHE 0.
2007 &° 28RS IXSS aP?S&éoéoS TPODCHINHS® é&ééé@@& ReNZHE0H.

R

a kL b=

()

%&w :

P IS B aoDod ?

P ISRS AYpedy 23Qood ?

T IS S HotBHB ?

VI ISHS BB I 8w 0B ?

2007 &° 28A% 80D EXos® S FHoDS VB DB ?

B Ho Cﬁa?{g@@ 8)26()\8)263_‘; &@:@S"B% S (ET° 0.
S
B B DHCAED 1) SoB8 Ty (I,

[ Turn over



7751

43.

44.

45.

6

oo -V / PART - V

(24 SS3en) / (24 Marks)

Bod (DO esarend0.

Answer the following questions.

()

()

()

()

()

()

BOD FPBgErr FPT0TR)) (F°A5EW.
Soe

(Bsedo Hodhen aREEPN FPTP0TR)) (FPA5HEW.

QY FEgErN FPToTR)) (S°as0.
Soe
085 DIBS (o PEEP FPTOTR)) (G0,

®P0 DoES FEgErPN FPT0TY) (FTPAH0ED.
S

BP0 J08802d SPBLETH JPTPOTR)) (G0,

-00o0-

3x8=24
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Language — Part IV — MALAYALAM

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

&0laf : (1) @ooSloallon iAL® HOQINIEEMIMEIM GOlMEl €2106)Eala | alBlEUROUSlH6 .
ARO®EHIRIj0 MOOTILINES Hi¥alo OAMEBIT OSOHM a0 Ma OSSO
@O D6 jcb>.

(2)  QgPIOIME® Bh0Gald MIaIE®I WlOEees Mol HalcwoUll.ojowfldlesnemo.

aldodg - I
(15 @od#6))

() agEId Gola|ETMIo OBMOODPIBd:. 15x1=15

Answer all questions.

(i) @MIgEeedId Al EIWIW HEMDO OBMOEIETMHSIEBNLI® .

Choose the correct answer from the options given below.

1.  wme allgea moadmaje aldledldnemenny dmelalloj@od ?
(a) Ela¥nd (b) @EoeMd () alleyed

2. (add)fles al0nEd alSiemdOsle®mon ?

(a) (@3 (b) MBEH(@oO (c) vy

3. MOem 2R all@md qVRIMITIEmHEN MOOMEORNTY HhAll @YEISIeNY alO@IME) ?

(a) oqylewos (b)  alieeex0s (c) glewos

4.  MOSINY HOAUD @DOIOS byl ?
(a) mzo®IcRQl (b)  MINOHBHYDE  (c)  BOIMIBDEI

5.  oR®) Hllies muomomicl @eeeioarmden @i.ag)M.6. Msosloa ?
(a) &l H@o0allas (b) eaghlenigo ()  BHIPOOMOULOMD

[ Turn over
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6. oQ® MOTV@TILI6EM aloSE® al@IUoW] alojdod] dhjaHll 6olieilojmae ?
(@) oo (b) &Ml (c) emso

7.  adaldl — @RAMOODPI® k.

(@) omm (b) BT (c) enpall

8. al0d®mOM — @OAROODPI®I:.

(a) @b (b)  Wldyadiemad () WAomEM

9.  mdo — allel@l®aliEo ag)LImid.

(@) o (b) Meso (c) mdQo

10.  #066MSNHIOEMN AUREOMME® @DALHS) ?
(@) OHOWD (b) @oom (c) @

11.  2)»oRII@ aldesdlasmy GalddyM@ ag)Tmo6n ?

(@)  BIDI@D (b)  BOBE) (c) @oemond

al3)Boo AWl @SSR 6.0l10BiEERWLHE) OBMOODPI®M,. (12, 13, 14, 15)
Read the poem and answer the following questions. (12, 13, 14, 15)

‘M aldlesny adlasloniomy

2a000LOM Ulayimsidnefeg)!

‘oM LW@ CVEMAMIEM) Galdello

aflgdalemo alo@adlesmyealemol’”

12. @RALH6M aldlde) alglow) ?

(@) wemald (b)  wdlauad () alOUaEIDD

13. @O RW@ VOHAM ?

(a) IO (b) UM (c) enIelEdM

14. of®m) salomdies aldlegosmlal ?

(a) @0olMio DHBIO (b) OB MI® () Ulaimio MMYo



15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

3 7752

@6 600 H® ag)Piailm ?

(a) QUSBECOMOUWD (b)  ag)PIE® 20D (©) eaqhlenigo
alddg - 11
(18 @0d«6))
@00 - 1
@EEN3I AJBMNI LOLIOHIM HEBO0 af)#i®H (a@OmEIallo MIGLIEMO). 4x2=8

Answer in two or three sentences (any four).

a10¥0 JAISITI MSHOIM®mODI6N ?

WM 1EIANEMIS aloemmemD) ?

oMl aflsly @oes alojoloemsmam ?

@emm allerilealss Allglesnosmnsmy alOo@MO®DIOHINE 2
al o ] oyl quaslo BOIHHIMED®ETBOHM ?
®LIYHOGD 2lrmafle alsmile) avallewoas® ag)om) ?

@900 - 2
afo®m®laljo @ROHERIENABTIM OMDOORE Y. 5x2=10

Answer any five of the follwoing.

MM ©El ). ®oae AllsBM). (BRAIOB:IMOHIH)
cuoeldllesl @omo@emo @oflof). ((Ie@otlo MORLH:)
EH0YWINS 0)3, EREIWIR @Y(a0C. (BRAIBAOHNID)
M@ ag)mM alBo a@@ AllesIQlad ealsymy ?

MO, OBOMUMD — af)@IBLlotODPI® 1.

[ Turn over
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27.  alaflad, §®oano — QOO (IGOUSlHaid:.
28.  smendlg), AIoYHnel — alfldle ol eimid.

alodg - 111
(18 @2d06))
oo - 1
a@o®®:laljo POHMEMABIM HOEBHOORLI® b . 2x3=6

Answer any two questions.

29. )M} 6 21®IOB06NEldlenomoam glaflmo ?
30. ®BBHOIVET3 BHISIHNIOETEIN MBI Allemom allminwens) ?

31.  0)0n0oeld@ Hall Kyalle] &Ho0¥al agmodiioymy ?

390o - 2

a@o®mElallo EEMENEBIM HOMOOALI®H. (34-0 2OED ¢2loa)EwilnT mldamimuwac®io B
OAMOO aG)PIEDENB®ONT. ) 2x3=6

Answer any two questions. (Question No. 34 is Compulsory)

32.  aflmvoeamm e®oMIeHnAM 2flal H¥lalsdd Matsoa |siemiod moeallenimemas ?
33. dlgy MoMIdkono GalOiM (NIDOEMHNIGl2] GRIEUMHM alO@IMEmAD) ?

34. (a) GHE8 @AM MOEEWO dldo] (alHhSMo ag)MmIlyMy ?
@R ;1M

(b)  ‘aggjoemgloo G IBMmOET) #IS ~ aONHIOHHWOEMA ?

@890 - 3
a@o®®slaljo POMEMATIM HEDOCDLI® ). 2x3=6

Answer any two questions.

35. ©almOrIBONo — LldhHemMo, HBIANMEMo QG)PIB .



36.

37.

38.

39.

40.

41.

42.

BO@E(IHHOLIB:OODTNONNG AldhHeMA0, HEBIAODEMAI0 ag)PI®d:.

BHOdhel QUYBDOTION LldhHeMo, HEIAOMEMO ) PI®ds.

(25 @0d#6)

ag)Qlo B2I0BIMTIMI0 OBDOODLI® k.

Answer all the questions.

(@)

(b)

5

alddg - IV

7752

5x5=25

milevBaes Midssleal oBaHld062210a8O @B 2] TVIAOYOTTIM 630) BHE)BYDLLM k.

@ EEL] 81 @D

A lOM@O(@DI@D (TIETBUD B6NS HV®IBHHODOW 00 MIOYBTEM @I o jie)d6ns
B0 HO) QYOOIHE)Idb.

@@Uo@o Qflal)elld:Gla] ag)Pimids.

(a)

(b)

‘@RWlH00@OM @oay®o Qllatto’

@ EL] 81 @D

‘DROO ML Des) memale)’

memBalens eomaalloa COOWIHEINS G0 lMWOIAMAORHNIO]2) ol oD
(IlALBIOY B30 @GAIhH ®QOOHEidb.

‘DDJa00RIE000" — ag)(M alB|EfleRl @DUI®o MVITM0 QLUOBETIE af)LI®d.

‘@M al@ldyt’ — ag)(M alB|EFIOLl @DUDO QAUBDDOBEI:.

@R 1@

al@yeomo alidlaflends.

Quote from memory.

(a)

(b)

GHOBIBMNBHIOIGNM ..o,

..... alo¥.apaisioml

@6 5@

COUINTIWL|EWO ..o

aloelloy) ;Do

[ Turn over
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43.

44.

45.

QR0 BI0BITBRHNI0 OBDOEDLIDI:.

6

alddg - V
(24 @od#6))

Answer all the questions.

(a)

OMPHOM MVoMIdH00 DaSlnwes (l@iloialmoil50em aljimd.o (HRIe@G:ISRIME
= QUBDDOHE) b

(TSR N [

DOMN@ CRIEUMMD dh6NE dhOPldh(d 0 J03HES ag)PImIds.

a10mED — HLADIVIOBMO WQOOIBE .
@REL) ;1M

‘podleml alely 8N — HOWIOS OEIOYETO OQOOIHE .

0] — eMZETBWD’ — ag)M Qlla¥@EOEDHNIS 2] Balmymlde .
@R, 1@d

‘aflapgmaslan RldHieBw — ©almyailead.

-00o0-

3x8=24
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Language — Part IV — KANNADA

Time Allowed : 3.00 Hours ]

gewsnd 1 (1) I3, 3
3O Izeosde BTA BoedpsTTON SYR0.

8
£

SB0D [NTED F2EONTIONE DO STvBOTRVBRY,

[ Maximum Marks : 100

3o HTTIR 003

RN

wh
(2) STB), WIOHED BT WP e TN, YWTOILENRD.

S

won -1
(15 @osned)
pitaleMriad mgwsa& 302 20TOND.

Choose and write the correct answer.

1. 333 LT TFFODTY )T -
(¥) o3, (8) WD () IPTA

2. NoRoHI, - ITTYWW DY TIOD :

(®) TP () Q2eod (@) gBeod
3. ZBogwoN LT JWEB WIONYWH, — S Fes.
(¥) SOIND () Zonw (Q) drenmomNed

4. 3D TP w00TI m:ﬁfg;ﬁ :

(©9) e () TSR (Q) OB

5. ©03TI0RE .0W YVTRTTF :
(¥) DWHF () oTPOOD (Q) Te3

6. TOTOZ DOLTN WO :
(2) 20D () JRE (a) ==

7. B3, 3RS, TB0WD, JotdT, TOB, WOOTVTY) :
(¥) AR&E TTONW (8) =FTEO TFOTND
(|) €OTAT TFOTN (88) ©©OTOT TFoOND

~

(83)

(8)

(83)

(8)

(83)

(3)

15x1=15

XOT3

BIDOE

EHVTORITND

BOTOD

BN

(

[ Turn over
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10.

11.

12.

13.

14.

15.

16.

17.

18.

2
Wl TBRETID — 080T ﬁ@@ VTOTTE.
(99) LRISTO () [BEFRPI O (V) FARS To©

T T0HIT TTF FIBOWS,

=201

() ©TTITED () ROW BRI, (V) V=Y

‘m@%ﬁ@f WIVTOORN” DO2NIT 20T :
(¢2) ned (8) DRI ([) @

w@p@xoéﬁ WOTR YVTOXTH :
(®) =3eod () &3%63 (@) BOCOT

‘TETORT DFFRT 202 WTTWOSZTITIW
() Tl dTTI FTTOZ (83) BRI
(R) 3.0%.3. (83) 2.20.9¢.

RN [NODY T[T, TeIAT WOTTA
() %awmjmsx (8) TOJ () @3@@3

TTNG LONINTTY, LA mi
() mﬁdw () oTRY (Q) ©©0%T

YD FHE MLITY ToFBN HOTH DITROITTITIW
() nReeNOT ﬁé (¢3) N0 ToTor &
() OIN.&BT°. WTOZTVREE (88) Q.3 RRews

won - 1II
(18 @wosnes)
~een -1
BRLTOT JJNYY BRPTTTR m@é@& PZORD.

Answer any four questions.

ZORTOD meﬁaez’cﬁpm VT TJIVIINBE ?
dedg wééojamel T03eT TOTY 03T aam%céda 9

SODTB I VDTS 0IRT ?

(83)

(83)

(83)

(83)

(83)

(8)

NI To®

BNT ITOBI

BOWR

2R3

4x2=8



19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

TS 03303 W m@gs TOTOTS BRBTI 2
wstgﬁwdo 5@& LONAT BRIV 0370 SYBRON 3003 TRIVHROIRT 2

WREF TDT® VTN MO DX 92

o -2
33 3YBOT @%ﬁ%ﬂg C3RF)TOTRTR aow'% [0, FOFToN GVIDA0.

W = -

Answer any five questions briefly.

VT D/IR, TRBONR’ R0TN DBRFTIF N BPRT 2
%@zo %éééocﬁa m@mmm DB 2308/TI ?

TEV0Z 9N TN Y TNV ?

TZO BUTY BRWN Q0BZ LRI, FORTT ?
DYRTEIND Seedzy) O3 TTN REZoTH Tewhzs ?
DTRFOD TR Tert TONRRYRIR ?

309RT, SMD — B JIWNYI), INT 203, VPR IBPADTI), THOA.

R - 111
(18 ©@o3ns)

7753

5x2=10

& 39803 TINYY TS VPROOT CERYTER AT JFAUR IR W00, (343 T,

TTON.)
=]

Answer any two questions from each section. (Question No. 34 is compulsory.)
don -1

BOBRIOOIN O3V ? VRY W3emS0IeI 2
B0037, BT 21} SeDFT DFOOTRT ?

Y TWTOLTTIN WITD TN &NTT ?

2x3=6

[ Turn over
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32.

33.

34.

35.

36.

37.

38.

39.

en -2
mda—é% xowoqﬁw:\’s{l mwsgmda 3en é)waf%mocﬁ 2

O AWFAT STHFD FFBID, JeA20.

38 wcséa;mwm& TRRFNRNRD.

Quote from Memory.

() mcﬁo—é% TOWOT  weveeeererererrereereesrenens
.......................... JI, BRTWO  FOMTIE

den -3

3363 OO ©BED BTN, NTTTH JCRO.

SRR FBIPIT BRE, WO, DTE YVTITITH IeRO.
8 DTORL TR VeWFI
TO0E3e0NT WNT 634
Rred Bews TR HowZ FoPT DeHOPD

83 [BLIONE TAT Tosd, [PING BoLBoDI), 9.

won - IV
(25 wosned)
BRLTT QU TININL LOZORD.
Answer all the questions.
(¥) HROTB FOT VFFOI, DB|OA.

[Slofvo
(¢83) 2OTEe0D BEDOW wéw%oss 27} QTR

() 3D JOTD I, TeTORIPIBI), Bert B[ESFATRS 2

[Slotvp

(¥) JxTT WFEON TeNTedeBord SeFT Feshzed 9

2x3=6

2x3=6

5x5=25



40.

41.

42.

43.

44.

45.

5 7753

Q) YWOR WINY BTHONT, 3O FRWWOZ deed, TON SOIWFON 20T TF, 2TCWD.
Slatp)

QT TSWOT BRI 3 BEIT TwAE Teo FHHLRO[OZ EReD, W, FOTRROW TT,
203000.

DTIFT [RAF — B3 MRTHPB. ICWT OFF IR, QDTOR.
() WeANON VDRI — FoNOIROT COTN ........ 3BT WRODY ... Qe
........ BEINTD), BOIY) ...vee. B3 TPOLIWNADI), TRFTRDR.
Slatrp)

(8) 38 SO THTNVR TOBHOWR FIW MOT[IVTTZ, WTOWO.

(i)  Work is worship
ii) No pain no gain
iii) Health is wealth
iv) Barking dog seldom bite
v)  Unity is strength

won -V
(24 wo3NeH)

$9NT TIROR DTN GO0, 3x8=24

Answer the following questions in detail.

(¥) TeYETRIT FOWI ‘ToRYTR 2.0T3¢ 2308 H0W IRITY HeN :RA WORT ?
Slatp)
(8) A-TNDH BRI 3B DTTHCFRCTVIING W} WABEITRO WPTIOD[EI 9

=2

() BOTE FTWTONTND TR FOTERRC ?
OO
() TeBBo30 03WOK, 03PET TOTHI, ACRTL ? DB 2

83 3YTOR DTONNYY CIRYTRWTR WOTRY, WO T O TWA.
(¥) I3, BT — I, TR,
(8) dazis 23R

-000-






No. Of Printed Pages : 8

Time Allowed : 3.00 Hours |

Instructions : (1)

(2)

15x1=15

[ Turn over
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Register Number

Language — Part IV — URDU

[ Maximum Marks : 100

Check the question paper for fairness of printing. If there is any lack
of fairness, inform the Hall Supervisor immediately.
Use Blue or Black ink to write and underline and pencil to draw

diagrams.

UL Wi ey bzl Lespile (1) 1S
G LA ke Lo (2

PART -1/ Jil -.»
[15 Marks]
Sl ()
(Choose the correct option.)

_La(j“[/o:?d/ ié#bngﬁd/ﬁ#ﬂ’&ﬂurj .1

< (@) ! (&) S ()
WA LTALL SRS L 2

U2 () f}{:«/’ (<) e ()

& o F15pSSI0s5 .3

Ut (@) Ul (L) Uslr ()

-—;,('ch..',g)c«f) 4

22

g A (@) o (L)



7754 2
S S3ALNE (L)

(Fill in the blanks.)

AT Gl 5
fj»@vg)‘) +’ﬁ1£,”: .6

:2“_@/";? @)
(Match the following.)
() ()

S ) LAY B

[uy

Gt 5061 (i) (el 8
LnFlyeMocen (i) L& sy .9
LS LA (i) <ded it .10

Az ()
(Write in brief.)

g FEn

¢ o B Sl 12
¢ Ll U, .13

C e ad e 14

_@ES 57 s



4x2=8

5x2=10

[ Turn over

3 7754

PART -11 / (5 -
[18 Marks]
SECTION - 1
eyl (4) s
(Answer any four questions.)

¢ e L UL A

¢ LY Wbt il P

¢ I Ut T U

¢ £y e L ool Nl e
¢ e Yerw S

¢ SRSt

SECTION - 2
SIS AN Ay WY Py s

(Answer any five questions.)

¢ ‘a&zd"“émfwf
¢ LA L LS
¢ LL?%WUJ}K&L}LUU@LQ

¢ & Z_/@/:?‘/ gcszu'u»/ Fﬁdf/

.16

17

.18

.19

.20

.21

22

.23

.24

.25



7754

2x3=6

2x3=6

¢ Lnibyoel ot ) e
¢ St e f s
¢ é’.u:@b&;f’{gﬁféaﬁdfgfgjcaj

PART -III / (% -2
[18 Marks]
SECTION - 1
:2?6;%&%Jv21»uﬂ;btAJuibb
(Explain any two couplets with reference to the context.)
T e S JF T
L f v S e €

féﬁl}{d}/; ‘L&??JL:U’E’_’/JM&B/’”’/
LT@”Q/,‘:/LJ?/!QE‘J:J‘*J%X

Uiy Ftugie
s E G2 v oa

SECTION - 2
N Iy

(Answer any two questions.)

¢ e brmbbe WL Oy
¢ ‘a/‘fv/?chf;uub{diﬁ
_g/!;’ﬁgﬁvhdl'(bﬁ')

L
¢ & g SOl (O

.26

27

.28

.29

.30

31

.32

.33

.34



2x3=6

5x5=25

[ Turn over

5

SECTION - 3
Y, W Y[ w
(Answer any two of the following questions.)
: ﬂ/@ALJC"/U’?/‘M:«MB’
e TeT Q)
Ko (i)
BAsISF i)
S aGISe (W)

¢ et PSS il

L2 DB s B e udeds
Jgﬁ‘bﬁgg‘:’.}u‘/j/: ‘H‘J"ﬁé—

PART - IV / (/g -2
[25 Marks]
AP "
(Write the summary of any one poem.)
Sl Loy 2SS (a)
L

¢ < SEESUASL it U 5T P b)

7754

.35

.36

37

.38
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_Pﬁc;:j“b).@@'/bﬂ"ziéu/(cufdy .39

- JAUE (a)
b
SIS e GEdubass  (b)

_EE Sy ZE St f$ S5 .40

M b B e bttt e sl & S S B P ™ P A T
¢ S E L ey e TY Lol AVICENNA £y Art Lol

L’ﬂuff(tﬁg YT_Ln!&J:u“j]}?Vgﬁ(ut{ﬂ m2y*) LUis 370 J b ,980 G.‘.’uu:f(“

b~.~‘7 'gﬁ)df}uﬁ/&uVw'%:“/}@/'j”'ubub&/“‘L"b'/ll"Q’%ﬁ‘UT}g?b/xPugwd‘xrU_LE,.i“;!g

bl 12 Ui 1012 — gt Mt EL IS U U1 "L By eﬁfﬂ”«f@fﬁw}fiﬁé‘gég,
e SIS #1024 AT sf

D Uly

¢ LSl ()
_z bt B e (i)

¢ W T A b el (i)
¢ Pt E 3anJ.7J (iv)

kR U dode” (



7 7754

: éxiuﬁwuub’dzﬁ 41
(Translate into Urdu.)
(i) Plants are green in colour.
(i) Plants prepare their own food.
(iii) Plants give us pure air.
(iv) They are helpful in keeping the environment clean.
i Sits 42
[Write any one of the letters]

LSt I .}?Jrt_&Uu@»ﬁé’.&i./d%(d/))amuﬁﬁ/&qﬁusw (a)
-2l Bt

Genf
Lo St ke L3860
IS et st & Sess)
. Z 6 en_n o6 b (Fist
L e

b

By 20 i

b

_nfu(u'f/}dl%d})}»dﬁgﬁébﬂéﬁ/"%' (b)

[ Turn over
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3x8=24

8
PARH‘-Vﬂ/fi-,JD
(24 Marks)

A e S = Ut
[Write the summary of any one lesson]
e Y g ETL e, M P (a)

L
_ele S Aol F sl gt o ¢ gl 2E L (b)

L fobLide AU ()
[Answer any one]
TR “uufj;,i” (@)
|
@3 Buunz” ()

CESMAALEIT (@)
L

Utezg Ay (b)

-00o0-

.43

.44

.45



No. of Printed Pages : 7 7755

Register Number

Language — Part IV — HINDI

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

T - 1)

(2)

DU i Tl o T YTH-T St 9" e | IS Tzl H g HH! T5R Y, @ Ga
hefl THoaTeh hl gfed i |
91 o1 IR < & TIT et A1 hTet T T ST |

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline.
HIT -1
(15 Marks)
& I A fafan 15x1=15

Choose the correct answer from the options given.

1. HREAAE aqaarst 6l S et # gom e

(31) R (3) HEEEE (3) BeE (%) e
2. Ut H el S B

(31) @& (am) 1= (3) == (3) omE™
3. HeRSE i =AW ar § fawfea €

(s1) @ (3T) H= (3) =R @ @
4. HigR ®WH & GYE HA 9|

(31) mEster (M) TR (3) Tz (3) o=
5. BfociyRe T 9Rd & HA T

(21) wfag (=) < (3) T @) fm=

[ Turn over
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10.

11.

12.

13.

14.

15.

2
YRl % Y™ O R
(31) Werwed! | (31) eREwRE s
(3) Hferefere 7@ (3) WEAA Fgaal
Ik S A ¥ |
(31) fm (1) < (3) Hamw
TIgAER _ HT AJed HIA AW MR B
(1) Sfted (am) g (3) &
ATRas i T o T forem h1 STETgeRar ®1
(31) A (3m) iferes (3) WESITH
‘e AT Rl 3R T
CIRESEIEED (a1 SIfTeE=s: () TAaEs
foran fogmor & g T
(31) =R (3m) A& (3) U=
CRIREINI] el hl TRATT ¢ |
(31) focemt (3T) TR (3) T
@ % 39 ELRcakd
(1) 25 (am) 35 (3) 45
fohaIl <hT 9HY SdMaTel Ieg gl
(31) fegwds T (31) G
(3) HIIH (3) wrorarEs fohan fagmo

BT heMl & lEh

(31) GUSTHAR =R
(3) s

gl

(31) g
(F) fo

()

©))

©))

()

©))

()

()

e

28



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

3

HIT - 11
(18 Marks)
A; -1
o=l = Wl & e s fafeam )
Answer any four questions briefly.
e = T % Heeol e ?

HferefroReT T 1 S e TR el I A1 ?
it s Tl a2
wry fod ed €2
‘TY-TQ' weH % TIE T % T SR |
Srae H foreror o1 v 1 € 2

3T -2
fer=dl uter ool & wfera SR <ifSw |
Answer any five questions briefly.
T R THY A RS 7
HeEellgeh ohl HISRLU THEA |
foRro & fohen 95 €27 AR FNE?
HfRraTae |1 fohdl Fad © 2

foran forl e ©2

o o
ARd(den HAAIH [ehd ohed %7

A fha IS ®? AP FNE?

7755

4x2=8

5x2=10

[ Turn over
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29.

30.

31.

32.

33.

34.

T - 111
(18 Marks)
39T -1
foR=al & Tl < S| T

Answer any two questions.

TT-WAT & FHTE hifeTg |

TR I g HIfC |

Complete the following.

(31) WMYTH —————————- I |
AT

() SMHE —————————- fagamn

‘Tred® 3R qaR’ & IR H fa b1 fo=m = g ?

39T -2

for=dl < Tl & S S| 9w g 34 At ErE B

Answer any two questions. Question No. 34 is compulsory.

TEEH T & TH & HYF TR Hifg |

o aWa

ARGl Fqaal sl 9= S|

(37) T 9FH Fi gfd % IR H T § 2
3reran

(3T1) HEedl oMt 3 3791 Ui= fomd gepR fean ?

2x3=6

2x3=6



35.

36.

37.

38.

39.

39T -3
fer=gl S gl & S ifs)
Answer any two questions.
= sefee | (el &)
Change voice of any two sentences.
(1) 1 J& vl ¥ |
(3m) 38 <A feam
(3) & el Tl S|

v g fafaw | (T <)
(1) PR -
(3m) T -
(3) @& -

S HifST |
(31) FA WAL
(3T) FIAT Hleh BA G GA Al

HIT - IV

(25 Marks)

|t uter 99 & S i

Answer all the five questions.

(31) =aferdcd o A9 H Al 1 1 Blel Bl © ?
a1

(31) HYHT AT hIfST |
ST T W4T, R 1 T i |
A 7 ST HR o, S ST S B 1|

(31) <1 S, A-TR I H = @i Wier & fow v geves @ T 9o fafae |

AT

7755

2x3=6

5x5=25

(3m) fordme =R 72 faoell &l 3R 9 oieh YRt Yeh1eH, SRS hi TToid HIdT 9S4 ohi foehtad hid

BT Tk 9o T |

[ Turn over
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40. SIS H STIAR HifwC
Translate the following into English.
(31) TS IR @ I Il R <9 F A AR |
(3M) Feed SaM IR @S gfd &l o o |
(3) foreeRt 79 wcF 1 AT &, SHeRT R0 off 9o B 8
(%) XraE w6 A % fau S STAnT €M o RO S8 ITEH Sers #Ed ¥
(3) AR  Toeeren o1 €

41. Tr=fafEa T Sl 9gHt T & S eI |

T SR WM 5 31 ToRe 0 &1 1| 39 Toh Fart fet oI o Jome S8 o &l S99l & o |
ol A 39eht 3T e 721 fean | ~iifer IuQw H 3IHeh1 7 718l o7 @1 o1 | J=Reh shl 9gd shie 3T 36
TG o UG ST e, - ¢ T Uk e 92T § 98 TR Suew T gAa €1 g H el - Sy iy arg s |
AR 3 IE F U A A1 G5 A wwet foren o 9w o ol | @ ¥ 1 39 3% wwie s faemn sk
O 9 fean | g A e T 9o T o1 € SUSH o SIR 36 oS &l & Afuek stavehar ot | afe
AT % U2 H @ S SoTcll Weh T8l 81 Al SHeh! U o H g oy el 2w’

L’ 3s BN

(31) TERS Tl AR g3 ?

(3m) e = F=i SuRy T g ?
(3) TirmErdt =l SEe 5 7 == fean?
(3) 5 Frer & 9N F 1 Far ?
(3) 39 ey & SfEq viYw Sifem)

(a) foer - AfTeEEEEE o
(b) I - foemm

( WHIFIR -  AEEEE GO

d) = - BWYER

(e) HeAMH - FcErEeh TR oo

YT



43.

44.

45.

(1) | fHeTH whifs |
(a)  EiTeren - HeErEs foRm
(b) HM - TAarEe fshar fomm
() dFw= - Y 9IEdl GEE el
(d) == - QYRR ARH
(e) THeEamE - gk Hall
YRl -V
(24 Marks)
[t 7oAl % W fafau |

Answer all the questions.

(31) “‘wrgyfA’’ sKfad s 9N fafEw |
3reram

(1) “‘hem 3R dear’’ e w1 9w fafaw |

(31) “‘TE-TE" - TRt 1 Y faf@w |
AT
(am) ‘*Sftem iR freor’ - 916 1 wRw fafE )

(37) ‘<9 1 &g el 1 9Ee fAfEu |
3rgar
(3m) ‘e SEA" FeE 1 WY fafEu |

-00o0-

7755

3x8=24






No. of Printed Pages : 6 7756

Language — Part IV — SANSKRIT

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Note : (i)  Answers should be in English, Sanskrit or Tamil except for those which are to be
answered in Sanskrit.

(i) In writing Sanskrit, Devanagari script should be used.

PART - I
(15 Marks)
srefafeari geam wfeay S® fogd ) 15x1=15
Choose the correct answer.
1. f3rem - () & (i) L@ (i) &S
2. Ty - i) erdifl (i) BewTLIET (ili) 2 melerer
3. T - G &g i) s (iti) ST
4. A& x () smfE (i) e (iti) @&
5. WIY: X @ = (i) AHY: (i) wY:
6. 3 x G) ek (i) el (iif) 3T
7. HOH + 39 - () HEd (i) watHE (iti) AHZA

[ Turn over
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

2
%Y + gfeanfor - ()  wHEf=E (i) wEIf=ATO
g + e - () HEEm (ii) |
PEEISRIE () T+ Sl (i) EEESE + T
Herfef - () wal+ e (i) w&+ Y
EREINEES G B+ st () 1+ sty
HTHARH, |
() el (i) Torefa:
ENIERSI] T |
@ 9 (i) =
IR TR fagafd |
() ISR (i) forRRO
PART - II
(18 Marks)
SECTION - 1

ST TIAMM ThTed W o |

Answer any four.

TEIH: h: ?
& 3Ifenid: ?

FYferr: 1Y o goi 7 =1 ?

(ii)

(ii)

(iii)

(ii)

(ii)

(ii)

(iii)

(ii)

TS + AT
AR + 1Y

e + erfg

AT

4x2=8



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

3
SECTION - 2
TP JHM THIeH SW faed |
Answer any five.
ST AT AR TR fh o1e1q ?
XA TeldT: hIGEM: ?
% qeEl: dIedmy;: ?
FANTEAT T e ?
ST ST HH SIS ?
EZRCCICAECIR IR
SREar s fawreid ?
PART - III
(18 Marks)
SECTION - 1
g4 yeEn: SW faEd |

Answer any two.
fermeEai s et ?

Ie5: o TR ?

gaieaeH foh wafd ?

7756

5x2=10

2x3=6

[ Turn over
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32.

33.

34.

35.

36.

37.

38.

39.

4
SECTION - 2
A Tl S fawd | (T 34 fam: )
Answer any two. (Q. No. 34 is compulsory)
F IR Fam 3T ?
AT aatsd: i AT~ ?
(a) @ IR ?
3r9raT / OR
(b) o =1 3fd g grAIfa = ?
SECTION - 3
garn: ey fored |
Conjugate any two.
Tq_YTg: - T AHRN:
H\(QQ)%HQ:-§£{?FFR:
HQ HIg: - g i
PART - IV
(25 Marks)
TP YA IR Aok fered |

Answer any five questions in detail.

(a) IIR GEhaGHIa i qeid veiichgd i fomread |
JTTEA/OR
(b) TfeTRra: g1 vairR! fagu |

(a) e foae ufa g formas forea |
JA/OR
(b) & Seru difeq: s1fd | s1a: gumTEAgS: gfa favmas fored |

2x3=6

2x3=6

5x5=25



40.

41.

42.

7756

AR HY TaEd |

Rearrange the sentences :

a)
b)

(
(
(©)
(
(

(oW

)
e)

I ke ferrerd: wafd |
IRAY qFHe HRHRIRI: |
3T WSl 31T TSsTTe TS |
WA =0 T &Teraid |
3T TS HEAYT: |

FAT=v] qfSeell YA IR forad |

Read the following passage and answer the questions.

TR ST HeOH IR dorq Afvaedd | fvieres varom gfg: a8 | Sritwmer sirvog

o< = wHAfd | FRoeee TW: ®uE: Yaid | SSgies oS 7 e |

T :

% U gfg: aEd ?

T et <ffsl 7 SfEd ?
FRATTE TM: higel: ?

T VRO ST SAfHaed ?
o wer i U = safa 2

IR T
Translate into English or Tamil.

SRINTY FHYITeTeh! M KT ST | TH TR Tohd JSYC S — AT FRGHHET
3T AU MYfIaea 3 | 9: (YFTa: ) ST - STfeh: 318 9 IaNary: HaeHeh Jefia: |
3T 1A Hd ot STAfeH 3=uf< | aq g AR Hyifders: 96 Heug s
T Q]"Tlﬁ: SIECrER

JAGT/OR
RIERGH
Match :
(i) iR - ufvgqarde:
(i) srfeEEE - s
(i) TTSY - EEIRE]
(iv) STHETHH - =T
(v) SieriEien: - HfEe W

[ Turn over
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43.

44.

45.

6
PART -V

(24 Marks)

FATOTT AT et ST fored |

Answer any three in detail.

(a)

sTfeamM 19: eier e faea |
NUET/OR

NS 3T forad |

FATART TArehifeRid: T forg ferad |
31erET/OR
TS Sefifermed: gl i |

Hyuiaan fgeres gemdre forerd |
JIA/OR

Thvlss e fored |

-00o0-

3x8=24



No. Of Printed Pages : 7

HN Register Number

Language — Part IV — ARABIC

Time Allowed : 3.00 Hours |

7757

[ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any

lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

PART - I/ . Js¥ ;a0
(15 Marks)
SECTION - 1

15x1=15

(g / yie) soal g ol 5y sens

il / L) sladl ol
(S /hua) _ a g Tl Sajpallase o poe Ria
(clita / gleio) el 51l

Gl [t IS 555 0S5 gy Sl o 3

[Turn over

Sl el Jaa

: paaall Ol gall jza1 (Qall)

(Fill in the blanks)

.1



7757

2

SECTION - 2

sl gollas ()

(Match the following)

eLall

Lai¥) s Y
RIRTIR
cgingll i

Lo il

Slyu¥ e sl s 4le

SECTION - 3

.6

.10

o) on cnalin el g 1,1 S

(Fill in the blanks choosing correct word given in brackets)

(ouadid! - 3L, Leleadl . QL) . elo)

olate¥l 3

Lol 3
Ll

cheall

sl e

s

ok

£

k

.11

.12

.13

.14

.15

(0



4x2=8

5x2=10

[Turn over

3
PART -II / . ‘;’.Lﬁlig,;ll
(18 Marks)

SECTION - 1

7757

: L yally LW Aall o Dy T e ¥ (all)

(Answer any four questions)

9o s sle oLyl Jony Yy wa L

¢ oo Ling Lo ST oLl ulidl Jerioas Ja
TNl den 5asallure o e iia i
¢ L) oo 92 010

€ Meadl 5l o L (b 0 5 s g b diaw oS

Taabe plaiy 6 b
SECTION - 2

.16

.17

.18

.19

.20

.21

(Answer any five questions)

{4 Y) Lol Ll xS
dgoo - glike . jee . Gk
1Y olalSl p gandl i
tlo - G- -
L4V JlasY) e Jelill 3l
ool pula ¢ Jaball LS

.22

.23

.24

(o)



7757 4

Seyalial puiiadl ciale JlE 1L .25
¢ lsa gaoldlll 3la (< .26

GV el aa s 27

s glelis s LS Lala ol

Jaselye o Ak 4 alll .28

PART - III /. &1l 5a )

(18 Marks)
SECTION - 1
2x3=6 : elialy 45V o jluall o sl pa 3 (ll)
(Translate any two)
Iyre ol LS lagaayl 0y .29
alall Fliso 50,801 .30
K fase oldll .31
SECTION - 2
2x3=6 s Ea La Y e oSl Jo LIS IS Qi3SI (0)

(Answer any two)

B 5 e gudn ol puan T Lo 33 0 alas 5 ol Al Lo Al sy JI3 JU5 die dlll oo olie g olaie (e .32
(dele it ) 0,LalT cia o £ 35 i b (yo slyllaa

15058 conall 51 Gl 5 im0 s g el Lm ll sy J5 el S Lgic dlll pin ) ol ol e .33
Celasall ol ) sds85 Lo e ¢ g 53 45 Wl L3 | jua



5

il Ly Il I e il ol s 5 sl all s uill J15 15 e Ll i ubse ol o

2x3=6

5x5=25

[Turn over

(ol ol gy) -l L e Luill o clguisally

13

K]

¢ oatiall cabial o gl wlal lile

SECTION - 3

7757

34

f AT L ga il W o il e waal ()

(Answer any two)

¢ Uiyl o Jelill iy .35

¢ UL o p oLl Jaill ol 55 S5

.36

ol Lesh i sl g 1,800 SLI .37

(GBaal . Glaill . LI

baly ol )
daly  Jladde (i)
alas oIS (i)
PART - IV / . gl 150
(25 Marks)
SECTION - 1
b ginall plaill i<t (alf)
(Quote from memory)
suadie i o Sl e, oI Ly e .38



7757 6
Y olyl sl .39
il i€ o) alll (g it elile
643 Y a0 315, s el Ly
3o llly el alas s
adl gogally phall 35, ais

SECTION - 2
pelialy oV es la¥ a5 (o)
(Translate the following Hadiths)
s T Lo waluso ll oMl cial sl g dile alll s alll Jpuay JI6 JI5 e alll o5 050 ol o .40
(aluss ol 5,) Lgs! guad alll J1 30

dale dlll La Bualg 8slan Lo Lo o alu g dule ll Lia ll Jiyuay J15 JU5 i glll iy il o .41
(uﬁl.u.d.”b“g))Ob)dﬁ&ﬂ@)ﬁ&@#ﬁﬁh&;}&‘#ﬁu

L Ll by plass ¢p0 s 5 ke alll (o alll gy JU5 JUS die alll oy 55000 3l e (@) .42
(alaso 5 oLl 815 ) 433 (e paBi Lo ol jae Llsial g
o
oo Lual ]l Y alll o] b s dale alll o Alll J gy JU5 JU5 i Al gy 5558 ol e (b)

(aloss 8135)-6% 15 ] iy (S5 2S5 5 (1Y

PART - V / . jualali T30l
(24 Marks)
3x8=24 YUY e waal ()
(Answer the following)
Nais s puall L wunty gﬂlcl,\,:u‘ﬂl o L (a) .43
J
MNaie GleY) e L3I (D)



Haie ,hill Tt e il

o
Heae g yaall oy gliaall e €I

o

Aude dll daa o yallane e d 180 3K

-00o0-

()

(b)

(2)

(b)

7757

44

.45



No. of Printed Pages : 8 7758

Language — Part IV — FRENCH

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline.

PART -1
(15 Marks)
Choisissez la meilleure réponse : 15x1=15
(Choose the best answer.)
1. Sl fait beau, nous pourrons aller a
(@) La maison (b) la plage (c) lasalle de concert
2. On m'a confié le poste du directeur
(@) Commerce (b) Commercial (c) Vente
3. J'avais mal a
(a) La téte (b) la ventre (c) gorge
4.  L'histoire est
(a) original (b) mauvaise (c) bonne
5.  Mon ancienne ne fonctionne depuis un mois.
(@) cuisiniere électrique
(b)  cocotte minute
(c) four micro-ondes
6. A 1'école, on nous emmene a .
(a) Paris (b) Londres (c) Lyon
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7.

10.

11.

12.

13.

14.

15.

A qui sont ces

(a) chaussures (b) chaussettes (c) choses

La mére d'Aditi vient a son école pour discuter avec

(a) son (b) sa (c) ses
Si tu essayais une fois, tu un bon résultat.
(a) verrais (b) verrai (c) verras

II est dommage que vous ne

(a) puissiez (b) puisiez (c) pussiez
Tu as deux cartes SIM j'utilise.
(a) la-quelle (b) lequel (c) lesquelles
J' le sac a dos, hier.
(a) airecu (b) regois (c) avais recu
Merci, Monsieur, guérisson a vous.
(a) bon (b) bonne (c) Dbel
C'était grande surprise pour moi.
(@) wun (b) une () 1la
A Quebec, 11 fait frais qu'a Chennai.
(@) plus (b) moins (c) aussi
PART - 1I
(18 Marks)
SECTION -1

Quatre au choix :

(Answer any four)

16.

Mettez les verbes au passé composé. Suivez le modéle :

pas venir avec nous.

professeur.

Ex : Le maitre (écrire au tableau) — Le maitre a écrit au tableau.

(a) Les étudiants (obtenir les résultats des examens)

(b) Nous ( ouvrir les cadeaux)

4x2=8



17.

18.

19.

20.

21.

3

Faites des phrases avec les éléments dela comparaison :
(a) Ladakh - cuddalore - faire - froid.

(b) La panthene - le lion - courir - vite.

Complétez selon les indications par un pronom possessif :
(@) Leur jardin est moins joli que (votre jardin)

(b) Vos vacances étaient plus agréables que (nos vacances)

Que représentent les pronoms soulignés ? COD ou COI ?
(@) Tu peux lui emprunter son portable.

(b) Elle te rencontrera vers midi.

Mettez les verbes au présent der conditionnel :
(a) Sarah (aimer) apprendre a danser

(b) Martin (avoir) les co-ordonnées de son professeur de frangais.
Mettez les phrases suivantes au futur proche :
(a) Mes parents achetent une nouvelle maison.

(b) Tu composes un E-mail a ton ami.

SECTION - 2

Répondez aux questions (cinq au choix)

(Answer the following questions) (any five)

22.

23.

24.

25.

26.

27.

28.

Qu'est-ce qu'on peut voir encore a Quebec ?

Comment Avinash trouve - t - il les acteurs ?

Qu'est-ce que le professeur a fait pour I'étadiant ?

Que Sangeetha veut - elle acheter a la pharmacie ?

Ot est - ce - que Satish a - t - il acheté son nouveau sac a dos.

A qui appartiennent les chaussures qui se troucent sur le bureau ?

Que Croit la maman de Vijay ?

7758

5x2=10
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PART - III
(18 Marks)
SECTION -1
Deux choix 2x3=6
(Answer any two)
29. Mettez les verbes entre parenthéses au futur simple ou le futur proche :

(a) Dans quelques minutes, l'avion (atterir) a Paris CDG
(b) Bientdt,nous (rendre visite) a nos grands-parents.
(c) Le médecin (arriver) dans une heure.

30. Mettez les verbes suivantes a l'imparfait :
(a) IIs (étre) contents pour moi.
(b) Tu la (soutenir) toute sa vie.
(c) Vous (aller) tres souvent au cinéma.

31. Mettez les verbes pronominaux au présent. Suivez le model.
Ex: Mon ami / se réveiller de bonne heure — Mon ani se reveille de bonne heure.
(a) Les enfants / se coucher tot.
(b) Sundar / se sentir mieux apres la greffe du coeur.
(

c) Mafille / se guérir peu a peu.

SECTION - 2
Deux au choix. La question numéro 34 est obligatoire : 2x3=6
(Answer any two. Question number 34 is compulsory)
32. Complétez par lequel, laquelle, lesquels, lesquelles, celui, celle, ceux, celles :
Regardez le tableaux

(a) Moi, j'ladore de Claude Monet.
(b) adores - tu ?
(c) qui sont plus vifs, plus colorés.

33. Complétez avec une expression du temps (au début, pendant, pour, jusqu'a, lundi,
mardi ...) :
(@) Tu vas rester en France combien de semaines ?
(b) Nous ne travaillons pas le .
(c) l'année, nous faisons beaucoup de resolutions.

34. Mettez les verbes suivantes au present de 1l'indicatif :
(@) Tu (se rappeler) le nom de notre ancien professeur de francais ?
(b) Elle (poursuivre) des études supérieures en francais a l'université.
(c)  J'(oublier) souvent les regles de la conjugaison.
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SECTION - 3
Deux au choix 2x3=6
(Answer any two)
35. Complétez avec un pronom démonstratif (celui, celle, ceux, celles) :

(@) Tu as porté quelle cravat ? en soie ou en coton ?
(b)  Elle aime les colliers en or ou en platine ?
(c) La poésie de Mallarmé est plus difficile que de Verlaine.

36. Mettez les verbes au subjenctif :
(a) L'école voudrait que nous (encourager) nos enfants.
(b) 1l faut que tu (étre) sage pendant notre absence.

() Maman voudrait que je (finir) mes devoirs avant son retour.

37. Complétez avec chaque ou tout (toute /tous, toutes) :

(a) mes plantes fleurissent en mai.
(b) Le gouvernement a donné une aide financiere a agriculteur.
(c) le monde aime le parfum francais.
PART - IV
(25 Marks)
Cinq au choix 5x5=25

(Answer any five)

38. (a) Imaginez le dialogue. Jeu de réle. Savez-vous comment commander des produits
en ligne ? Expliquez - le a votre mere.

ou
(b) Dites vrai ou faux :
i)  Akash est plus aigre que ce matin.

ii) L'école organise une visite culturelle a Lyon.

« ~—

iii) Les acteurs ont bien joué leur rodle.

iv) S'ilpleut on n'ira pas au cinéma.

~ o~ o~ o~ o~

\%

~—"

Sangeetha achéte des médicaments pour la tousse.

39. (a) Complétez avec la forme féminine de I'adjectif :

(i)  Cette fille est (travailleur)
(i) Ce quartier est (bruyant) a cause de la circulation.
(iii) La valise est (léger)
(iv) Clest une ville (ancien)
(v)  Elles sont (nombreux)
ou
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40.

41.

42.

(b)

Transformez les adjectifs en adverbes :
i)  L'enfant a (facile) fini les exercices.

ii) Maman a coupé (difficile) la Pizza en petits morceaux.

~"

(
(
(iii) La secretaire tape (lent) les letteres.
(iv) Le piéton est (grave) blessé.

(

v) Les étudiants placent les adverbes (correct).

Lisez le texte et répondez aux questions :

Dimanche dernier, Piere est allé visiter la tour Fiffel avec un ami. IlIs ont pris 1'ascenseur
etils sont montés au troisieme étage. De 14, ils ont régardé Paris. Ils voient la seine dont
les eaux ont la couleur du ciel. Elle coule lentement sur les trente ponts de Paris. Les
gens en bas leur paraissaient petits comme des mouches. Il faisait tres beau et ils
pouvaient voir le jardin du Luxembourg , le jardin des Taileries, b bois de boulogne, le
dome des Invalides, le dome du Panthéon, les domes du Sacré - Coeur, les tours de
votre Dame et l'arc de Triomphe de 1'Etoile. La capitale de la France est une trés belle
ville.

Les questions :

(1)  Qui est allé visiter la tour Eiffel ?

(2) De la qu'est-ce qu'ils ont regardé ?

(3) Comment est la Seine ?

(4) Qu'est-ce qu'ils pounaient voir ?

(5) Comment est la capital de la France ?

Mettez dans l'ordre :

Bonjour docteur, la semaine derniere, quand j'étais en vacances.
Est-ce que vous aviez de la températare ?

J'avais mal a la gorge et je toussais constamment.

Je suis tombé malade.

QOui, je faisais 101°.

2

Ecrivez le contraire des mots soulignés :

)  Nous sommes trés contents pour toi .

i) Satish a apporté un nouveau sac a dos.

(i

(

(iii) Mon pére a refux.

(iv) Va dehors pour faire un coup d'appel.
(

v) 1l fait froid.
ou



(b)

43. Traduisez en anglais :

Associez :

A

i) Il est truste que

ii) Il faut que

iv) Elle souhaiterait que

2

(
(
(iii) II est dommage que
(
(

Nous aimerions que

7 7758
B

(a) son fils réussisse a I'examen

(b) vous ne puissiez pas venir du mariage de ma fille

(c) tu achetes le billet d'avion sans tarder

(d) Vous veniez diner chez nous ce soir.

(e) elle ne prenne pas ses études au sérieux.

PART -V
(24 - Marks)

3x8=24

(Translate into English)

(a)

Dans une entreprise

Arun

Les collegues :

Arun

Collegue 1 :
Collegue 2 :

Arun

Bonjour mes collégues, hier, j'ai recu la confirmation du siege social.
On m'a confié le poste du directeur commercial.

Félicitations!

C'était une grande surprise pour moi. C'était aussi un grand réve pour
moi de diriger le service commercial.

Tu l'as bien mérité!

En plus, tu travaillais, en toute sincerité. Tu venais au bureau méme
le week-end pour terminer les projets.

Vous me souteniez pendant la crise. Merci , beaucoup a tous.

ou

Vimal est chez Dilip. Il veut téléphoner a son pére de venir le chercher. Mais son portable
n'a pas de crédit téléphonique.

Vimal
Dilip
Vimal
Dilip
Vimal
Dilip

Vimal

Dilip, peux - tu me préter ton portable. S'il te plait ? Je dois appeler
mon peére.

Mais, tu n'as pas apporté le tien ?

Si, mais il n'y a pas suffisament de credit pour faire un appel. Ce
matin, j'ai oublié de recharger mon portable.

Pas de probleme. Vérifie le réseau. Quelque fois, ca ne marche pas
dedans. Va dehors pour faire un coup d'appel.

Merci, je vais essayer. Tu as deux cartes SIM. Laquelle j'utilise ?
Utilise platot la carte 2 pour une meilleure qualité de réseau.

D'accord.
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44.

45.

Ecrivez une lettre au choix :
(a) Vousvenezdevous installer a Londres. Il y pleut souvent. Le temps est toujours incertain.
Expliquez a vos parents dans un e-mail le changement de climat imprévisible.
ou

(b) Rédigez une lettre ou composez un e-mail a vos parents pour leur raconter comment la
visite culturelle s'est passée en France.

Ecrivez une rédaction :
(@) Faites le resumé d'un film que vous avez vu.
ou

(b) Rédigez 10 conseils pour vos étudiants qui vont bientot passer des examens.

-00o0-
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AL 0 (1) WA YRl AdlsRs © o duRil A, el 516 vl ddl dl, vis WRAR1as A did sdel sl
2)  aviel Wi o=l 2L sl RUEAL GulaL s34l

QWL - T
(15 Marks)
A0, [Asey Eld quil. 15x1=15
Answer the following questions by choosing the correct alternatives.
1. aedie{d sue A © EETIES
(a)  -al-(a-el (b)  SM-$518 (€)  YU-2ls
2. 25 2 23R atlcil] AYg U O,
(a) s (b) uuy (€) ad
3. il 288 RasHi elsil.
(a) el (b) el (©) 2Rl
4.  ©Rd UL 2UBIE %Y.
(a) 1946 (b) 1947 (c) 1948
5. OBRIM clld addl ysl.
(a) ™4a- (b) il () 2Hsl2L
6. ol Uedd d¥-l QLR 2UH ddledl ¢l
(a) s (b) 181 (€) A
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10.

11.

12.

13.

14.

15.

16.

17.

2
el HsvesR (Mg svSe ol WL,
(a) sRaR (b) ol (€)  olaRMl
ey W H2sc AR .
(a) Acu (b) ¢sdld () cuw
gotdl elasi wRALeY].
(@) [Qua drend (b))  KwE () vl
RIS oArdleietRe SRl 9.
(a) AL (b) 818 (€) HeRIsY
gl o (0138 2l 20y ©.
(a) ot (b) vl (€)™l
(852l s2ld sreu ot 9.
(@) &R (b) HE () =

g™ Uil elstel
(@) ¢

Yl (Al
(@) &=

RS TRABERCTRA ]
(a) MR

alstetl oflm gir1 Yl saell 2 ©.
(b) WL (c) M

AR BElgRL ©.

(b)  acy3d (© [
Y.
(b)  UCR © u¢
QUL - 11
(18 Marks)
[@ewat - 1

SISYSL IR UL sYelled 2.

Answer any four of the following questions.

HYoeA U HiEoA 5101 SIRL WA © 7

s{aefl el 2 Wi dtsy-olsy 5@ S 7

4x2=8



18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

5[0 e 220 Sl 58 O 7
slet g2l s2eudl 9slaz Ul dzl ey ?
5[ 5efl cwell 2 (G221 2eud s¢ © 7
‘RusiRl’ slaai sla ster © 9
Qoo - 2

SISVl WAL UBAL syeled AL

Answer any five of the following questions.

A ot
(@) ewa
(b) ey
ANYEL AT :
(a) ¢l
(b) W

3¢l AL
(a) sl usell
(b) 2t A 24l

-~

2431 Ysv3lcll UCE

(a) sdl
(b) (3l
(Qot otgal
(@) [Rigwl
(b) s
(A3gail 210 -
(@) B
(b) Wy
42Ul AEAL
(@) gl
(b) Adl

7759
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2L - III
(18 Marks)
[Qewa - 1
SUSMRL O WAL svelled AL 2x3=6
Answer any two of the following questions.

29.  Wis Ant@e st (A5 Y O 7 s UCUAL Sl UL S0 21 7
30.  Rarl st uAs s1eL Y 7 dun g (B3 2uel 20 © 7

31, et oyl B (A sl gl 7 dnel deedld A g ¢d ?

32.

33.

34.

35.

36.

37.

eu - 2
SUTUSL O ML syellol ML Ul . 34 53204 9.

Answer any two of the following questions. Question No. 34 is compulsory.

(il A1 Sedl 2ol 24A Sedl sy 8 7
el s 518 s (3534 d@vil.

(a) e weardl Al A g ¢d 7 drll 2 sell ¢l ?
YA
(b) s ouiRde [(AaleL il Fld s2eud ¢ ?

[Qeus - 3
SISVOL O UL syellel 2.

Answer any two of the following questions.

AUsUAL vl 24,

~

12 240 csarl B [Eiver A2 v g1kl
a) Sl vl oL B,

b) o A4 AL

c) (Rl His sl

o~ o~ o~
~—~

(A sl

(@) R+ 2uax
(b) ol + AR
(c) R+ 82

2x3=6

2x3=6



38.

39.

40.

41.

42.

€25 ML sYalod 2L,

ML - IV
(25 Marks)

Answer the following questions.

(a)  s193l Agln T udd el slel diey 7 R 7

2l
(b) e suid Aol Wyl 5(A s, sl L HER WA O 7

(a)  sy=u[EauAL 2A(Aedg isetdl Yot dHRL (B dvil.

ULT)
(b)  cloa 8ls A glenadl el Eaiedl 2o Hioldl wat dizL AlRUESL Aded dvil,

aysyR1lHl 2AqUE $3L.

7759

5x5=25

Books are our real friends we learn many things from them. They help us find answers
to all our questions. There are many types of books such as story books, novels, magazines

etc. A book reader never feels lonely in the company of books.

vl svoul Y3l
a) [l +iR
b) sl Ueedld A

(
(
(€) Al $4RY
d)  aBid Alcuui
(

e)  R(RA¢ HediA du-l

T &
q

QR =

| I

v) il -

YA

UL 219G 9.
¢q.
4 ofld.
YIsledl O,
W ALE s32A Yl

el el etlsa
o]l oigl eflv
[R5l

o1 Al digsl
NI

(b)  oiee Al digsll uR Qv
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43.

44.

45.

ML -V
(24 Marks)

Al2L 200 AL sreler A,

Answer the following questions.

(@)

(b)

gls3l sl @,
MY
qeelesyd s[AdL dvl.

[Aoier @vil : HIRL B ddalr” 244e ‘€dsy Ml
YL
s(A Rus1RlA 20l Rrausel 200 ©.

A2 200 sede dERse s

3x8=24

AN st el el 24 add gRL olledel Bdd odl A ©. (Al culsa Wi 354 28R
2 UALAAL MLl By i ©. [Qenell Ardl i ol Rigtsl sd Anedl 25 ©. s Al
S L el Guil Al MH il 28 ©. o7 51 Ut 2 Al Al g A s AUl 2 [ ol Wk W

9. aiSl MR AUl 2 [Su il el
2§yl

2] (SRR $3L.

5¢ U ol oAlel2A, AL UG A

sl A Zladl, vl 82 4 516 U
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